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Roll Number

Name of the Candidate

Examination Name KVS TGT Physical Health Education

Exam Date & Time 14-02-2023 03:00:00

Subject : GE_Q01-Q15_TGTPHE

Question ID:- 181

 Options:-

.1, Option ID :- 721,

. 2, Option ID :- 722,

. 3, Option ID :- 723,

. 4, Option ID :- 724,
Answer Given:- 1, Option ID : -721

Question ID:- 182

 Options:-

.1, Option ID :- 725,

. 2, Option ID :- 726,

. 3, Option ID :- 727,

. 4, Option ID :- 728,
Answer Given:- 4, Option ID : -728

Question ID:- 183

Choose the word similar in meaning to the one given below :
Submit
(1) Concede
(2) Meet
(3) Defy
(4) Attract

Choose the word similar in meaning to the one given below :
Diligent
(1) Intelligent
(2) Industrious
(3) Desirable
(4) Distinctive

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


https://applink.adda247.com/d/5zsmwiLHz7


 Options:-

.1, Option ID :- 729,

. 2, Option ID :- 730,

. 3, Option ID :- 731,

. 4, Option ID :- 732,
Answer Given:- 3, Option ID : -731

Question ID:- 184

 Options:-

.1, Option ID :- 733,

. 2, Option ID :- 734,

. 3, Option ID :- 735,

. 4, Option ID :- 736,
Answer Given:- 1, Option ID : -733

Question ID:- 185

 Options:-

.1, Option ID :- 737,

. 2, Option ID :- 738,

. 3, Option ID :- 739,

. 4, Option ID :- 740,
Answer Given:- 2, Option ID : -738

Question ID:- 186

Choose the word opposite in meaning to the one given below :
Animated
(1) active
(2) wild
(3) civilised
(4) lazy

Choose the word opposite in meaning to the one given below :
Lethargic
(1) Keen
(2) Dashing
(3) Local
(4) Dead

Identify the Part of Speech of the underlined word in the following sentence.
There are no books at home.
(1) Noun
(2) Pronoun
(3) Preposition
(4) Adjective

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 741,

. 2, Option ID :- 742,

. 3, Option ID :- 743,

. 4, Option ID :- 744,
Answer Given:- 4, Option ID : -744

Question ID:- 187

 Options:-

.1, Option ID :- 745,

. 2, Option ID :- 746,

. 3, Option ID :- 747,

. 4, Option ID :- 748,
Answer Given:- 2, Option ID : -746

Question ID:- 188

 Options:-

.1, Option ID :- 749,

. 2, Option ID :- 750,

Identify the Part of Speech of the underlined word in the following sentence.
All he is worried about is his own hide .
(1) Noun
(2) Pronoun
(3) Verb
(4) Adverb

Rearrange the following words/phrases to form correct sentence.
(A) is high
(B) against the dollar
(C) moment euro
(D) at the
(1) (C), p), (A), (B)
(2) (D), (C), (A), (B)
(3) (B), (C), (D), (A)
(4) (A), (B), (C),(D)

Rearrange the following words/phrases to form correct sentence.
(A) hindrance to
(B) the high price
(C) is a major
(D) potential buyers
(1) (D), (A), (B), (C)
(2) (B), (Q, (A), P)
(3) (A), (C), (B),(D)
(4) (C), P), (A), (B)

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


. 3, Option ID :- 751,

. 4, Option ID :- 752,
Answer Given:- 2, Option ID : -750

Question ID:- 189

 Options:-

.1, Option ID :- 753,

. 2, Option ID :- 754,

. 3, Option ID :- 755,

. 4, Option ID :- 756,
Answer Given:- 2, Option ID : -754

Question ID:- 190

 Options:-

.1, Option ID :- 757,

. 2, Option ID :- 758,

. 3, Option ID :- 759,

. 4, Option ID :- 760,
Answer Given:- 1, Option ID : -757

Question ID:- 191

 Options:-

.1, Option ID :- 761,

. 2, Option ID :- 762,

. 3, Option ID :- 763,

. 4, Option ID :- 764,
Answer Given:- 3, Option ID : -763

Choose the correct option in which VOICE is changed in the following sentence.
The cat is feeding her kitten.
(1) Her kitten is fed by the cat.
(2) Her kitten is being fed by the cat.
(3) Her kitten has been fed by the cat.
(4) Her kitten was fed by the cat.

Choose the correct option in which VOICE is changed in the following sentence.
Are you giving food to the hungry child ?
(1) Is the hungry child being given food by you ?
(2) Is the hungry child given food by you ?
(3) Does the hungry child get food by you ?
(4) Has the hungry child been given food by you ?

Fill in the blank in the following sentence with suitable preposition.
to the young people.Ultimately we found a way to reach

(1) at
(2) on
(3) out
(4) onto



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Question ID:- 192

 Options:-

.1, Option ID :- 765,

. 2, Option ID :- 766,

. 3, Option ID :- 767,

. 4, Option ID :- 768,
Answer Given:- 2, Option ID : -766

Question ID:- 193

 Options:-

.1, Option ID :- 769,

. 2, Option ID :- 770,

. 3, Option ID :- 771,

. 4, Option ID :- 772,
Answer Given:- 2, Option ID : -770

Question ID:- 194

 Options:-

.1, Option ID :- 773,

. 2, Option ID :- 774,

. 3, Option ID :- 775,

. 4, Option ID :- 776,
Answer Given:- 3, Option ID : -775

Question ID:- 195

Fill in the blank in the following sentence with suitable preposition.
People contributed freely in response
(1) at
(2) to
(3) on
(4) for

my appeaL

Identify the form of tense in the following sentence.
Tomorrow I am going to my old college.
(1) Simple Present
(2) Present Continuous
(3) Present Perfect
(4) Present Perfect Continuous

Identify the form of tense in the following sentence.
They had no fodder.
(1) Simple Present
(2) Simple Past
(3) Past Perfect
(4) Present Perfect





https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 777,

. 2, Option ID :- 778,

. 3, Option ID :- 779,

. 4, Option ID :- 780,
Answer Given:- 2, Option ID : -778

Subject : GH_Q16-Q30_TGTPHE

Question ID:- 196

 Options:-

.1, Option ID :- 781,

. 2, Option ID :- 782,

. 3, Option ID :- 783,

. 4, Option ID :- 784,
Answer Given:- 2, Option ID : -782

Question ID:- 197

Choose the correct option in which the Narration has been changed in the following sentence.
Lahka said to Ram, "Where are you going now V
(1) Latika asked Ram where he was going now ?
(2) Latika enquired of Ram where he was going then
(3) Latika enquired Ram where he was going now
(4) Latika asked Ram where was he going then.

PinRlRsd JhillVI 4?f ÎM^cfch Rfeo; 3JI4R RT RI* R44 44 :

4> fadl 4^1%RRTR 4>t ‘RRt Wf^RTf’ f47Rt-4-f4vRt R̂ 3 RT^ iSTTcff f I
41s? 41?f, f^TH 4 14, <vld 4 i?i, RT <=lbfcjdl °FT R4R 3T4?4 <^J||| 4(d RfT %1% 3TR̂ [ i?t °41RTff 44
T^RT R44 3fk 'Jlfdd 4T44T 4c4T 3R 4?T 11 R^R 44-44 4?^lR 4jfe % RT4 3TR4 f^4 44 R44

*j4fT-RT T?4T % I fR RlrfLqfd 4it 31R4t H^dl 4TI4 44 1R 4< l 4< R?4T 11 ?Rt 4>t 3T4:Rf7f4 MjtRdl
4?F 444-444 RT RRTTcl % f*4R difadl RTTfo % RT4 RFlt Reft 3R t 3?R F̂eft 4eM I RTHRTt 4?T
?4 =bl 4*Hd 41$ I

4> f4dl 4^*4 % f :

(1) 4Wfl4
(2) R4f44t4
(3) f4f?R2

(4) SnjRTRjfrq



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 785,

. 2, Option ID :- 786,

. 3, Option ID :- 787,

. 4, Option ID :- 788,
Answer Given:- 3, Option ID : -787

Question ID:- 198

 Options:-

.1, Option ID :- 789,

. 2, Option ID :- 790,

. 3, Option ID :- 791,

. 4, Option ID :- 792,
Answer Given:- 3, Option ID : -791

Question ID:- 199
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 Options:-

.1, Option ID :- 793,

. 2, Option ID :- 794,

. 3, Option ID :- 795,

. 4, Option ID :- 796,
Answer Given:- 1, Option ID : -793

Question ID:- 200

 Options:-

.1, Option ID :- 797,

. 2, Option ID :- 798,

. 3, Option ID :- 799,

. 4, Option ID :- 800,
Answer Given:- 4, Option ID : -800

Question ID:- 201

PinRiRad dufsT 3?f 3pf7-377% 37133 37 77x1 3^ 7̂^3? 337 <Û m. :

H % feTQ; difadl 33t3dt3 37^^1̂ » 33T7 3)t 3<i3-373'J33*ft 3Tf33t’ f̂, fddTTt-d-ldvTft 33 3 31^ ' T̂Tcft f I
IX? $fd$ITH 31?t, PddM d d^d 3 ft, 'CTT difadl 3d M3R 373̂ 3 7X?dl I ®(Trf 3|? %1% H^ 37pP ift adlHITl 3d

TpTTT Wl 3pR TlPdel 353F 3T33T 3cdT 3TT 7!d11f37T% 3t37 33-33 3?^(3 "qfe % 77T3 373^^3 3d 7FT33

^fT-TfT 7F3T %I ^77 3f7f73fd *7^*3 3)t 373dP H^3dl 7§td 3d 37 37l ®R 7l?dT 11 3v[ 3PT:y^ifd 3f M^dl
37t 7733-7733 37 'ddlcl T^f % %Ti 3> fadl 3^*3 3rfd % 77F3 TddP 3?ft 37TI$t 1? 3frt 3cdl' F̂lt I 3Td37t 3)t
5^=hl 'd d̂ ds?f I

Hj^d 3if 373dt H^^dl 7sitd 3d ^S7 3313dT T^rTT % ?
(1) ^3 7|fe % 77T3 373d fd3 3>T 7733 *Jcd̂ % =hl<ui

(2) 3fa 7jfe % 7773 STPH 7733 3dA % 3373

(3) $fd??l3 "if 17p 77t 7$') % diK'JI

(4) ^ifddi H4,jfd f̂ 3ff%T̂ T XrlPd'-d <5 1̂ % =hKul

fdHfciRgd dW T̂ 3?l fcqH^eb 3 3̂ 3ff7-‘3773T 37F3T7 37 f^Ti 33 33d 3d Hi)3) drT7 <1PdM, :

ppT % =hfqdl H'dMdld d-Kj, % %7777T7 3>t 77*3-3777*3 77*Tt 'dlRldl 3, [dvdl-d-Pb-Hl 3̂3 3T^3Tdt f I
3TI> ?Pc16l'H d Pd7lld d 3?Pd d s?f, 37 difqdl 3d 3377 373?3 T^dT I 3T3 3^t"fdd3^3 37d̂ t ^ °dlHI<i 33

%7T 33d 3pR ‘Syfcd HSd 3T33T 3c3 37T T?T ^ I f33% 3ld< 33-33 3F3t3 djfe % 313 33d $33 3d 333

^JcdT—3T TfdT %I ^3 dfPfprfd f̂ M^*3 3?T 3T3dP 3JEd3T T3td 3d 'Sd 3337 3?dT 11Wf 3?f 3T3:3=Ffd M^dl
3TF 333-333 37 33Trl 7^T % fcd33if3dT 3^3 3Tfd % 3T3 Tddt 3cft 3T T$t t 3pf7 37dP 3rl4P I 3PT37t 3?f
$3=hl 3333 d?f I

diiddl 3>t 333333)3113R73P[ dff t ?
(1) ^TllPddii
(2) $Pd$l33)ITI

(3) f3)3ldl
(4) 3^3Tf



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 801,

. 2, Option ID :- 802,

. 3, Option ID :- 803,

. 4, Option ID :- 804,
Answer Given:- 2, Option ID : -802

Question ID:- 202

 Options:-

.1, Option ID :- 805,

. 2, Option ID :- 806,

. 3, Option ID :- 807,

. 4, Option ID :- 808,
Answer Given:- 1, Option ID : -805

Question ID:- 203

 Options:-

.1, Option ID :- 809,

. 2, Option ID :- 810,

. 3, Option ID :- 811,

. 4, Option ID :- 812,
Answer Given:- 3, Option ID : -811

Question ID:- 204

PinRiRsd *¥ 3T3p 1? :

(1) SRtaK
(2)
(3)
(4) W*g§

PiHPel Rad Pf ^|c|c||-c|cb f :

(1) W

(2) fm
(3) ^(4) -q^cT

* 3HiPwd3 ' PddlMIsff % :

(1)
(2)
(3) 'IlfPd'+i

(4) ?1M



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 813,

. 2, Option ID :- 814,

. 3, Option ID :- 815,

. 4, Option ID :- 816,
Answer Given:- 2, Option ID : -814

Question ID:- 205

 Options:-

.1, Option ID :- 817,

. 2, Option ID :- 818,

. 3, Option ID :- 819,

. 4, Option ID :- 820,
Answer Given:- 1, Option ID : -817

Question ID:- 206

 Options:-

.1, Option ID :- 821,

. 2, Option ID :- 822,

. 3, Option ID :- 823,

. 4, Option ID :- 824,
Answer Given:- 2, Option ID : -822

Question ID:- 207

(1) *3
(2) Wfdd
(3) ^
(4) TO

:

(1) <HHW T̂

(2) srpftft TORT

(3) cTc^̂ q HHI'M =FT

(4) TORT =FT

:

PinfclRsld 3 T̂cTT qff % :

(1) 3> ¥II*M
(2) WTTsf
(3) fa IT«TRT

(4) W



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 825,

. 2, Option ID :- 826,

. 3, Option ID :- 827,

. 4, Option ID :- 828,
Answer Given:- 2, Option ID : -826

Question ID:- 208

 Options:-

.1, Option ID :- 829,

. 2, Option ID :- 830,

. 3, Option ID :- 831,

. 4, Option ID :- 832,
Answer Given:- 1, Option ID : -829

Question ID:- 209

 Options:-

.1, Option ID :- 833,

. 2, Option ID :- 834,

. 3, Option ID :- 835,

. 4, Option ID :- 836,
Answer Given:- 3, Option ID : -835

Question ID:- 210

PinRiRad Ri?f H
(1) W*
(2) *R

(3) t̂er
(4) xfteIT

IdHft-lRsId ^ptf 3 RcRR- cT^RR 7̂ STTOTCT t
(1) :5)RT-‘5Rft
(2) RTR-RTR

(3) fSP-l¥
(4) 3frg-3Tt3

PinfciRsid 3 R!ff t :

(1) Rrft
(2) ^(3) TO

(4) <js



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 837,

. 2, Option ID :- 838,

. 3, Option ID :- 839,

. 4, Option ID :- 840,
Answer Given:- 3, Option ID : -839

Subject : GKCA_Q31-Q50_TGTPHE

Question ID:- 211

 Options:-

.1, Option ID :- 841,

. 2, Option ID :- 842,

. 3, Option ID :- 843,

. 4, Option ID :- 844,
Answer Given:- 2, Option ID : -842

Question ID:- 212

* 3TPR R7T cTRT 5?PTT ’ R>T PinRlRsld 3 'Hdlcb 3T^ % :

(1) 3TP§f 3T̂ 5T el^ MI

(2) *H=bl fSR i?RT

(3) |̂rf f5RT flRT
(4) 3PHT Jpf ftRT

Who gave the 'Atoms for Peace' proposal as a result of which the International Atomic Energy
Agency was established in 1957 ?
(1) Jawaharlal Nehru
(2) Dwight Eisenhower
(3) Aung San Suu Kyi
(4) C.V Raman

<?ril% % %R; tRPTT3' RTT fsTH% 1957 Sicui^Vl WTFJ M.RVD RTJ ' ŜITRRT RTJM'KIlcI

(1) MieU^ClKI

(2) ^(I 4'H'16IC( <
(3) 3TFT TTTR

(4) TER

The Strategic Arms Reduction Treaty was signed by which two countries in 1991 ?
(1) USA and USSR
(2) USA and Japan
(3) USA and China
(4) Russia and China



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 845,

. 2, Option ID :- 846,

. 3, Option ID :- 847,

. 4, Option ID :- 848,
Answer Given:- 1, Option ID : -845

Question ID:- 213

 Options:-

.1, Option ID :- 849,

. 2, Option ID :- 850,

. 3, Option ID :- 851,

. 4, Option ID :- 852,
Answer Given:- 4, Option ID : -852

Question ID:- 214

f^FT 'SRI cf4 19913 HmR=b ifSRTR =h <?lcl) Rlfa R1 IRcTTSK f^RTi $ ?
(1) ^TJRfTi 3^1 M.H3IK

(2) ^MHU, 3^R W1H

(3) '^QKR 3%
(4) ^RT 3K

What is the NIPUN Bharat Mission launched in July 2021 by die Government of India ?
(1) Mission on Foundational Literacy and Numeracy
(2) National Apprenticeship Promotion Scheme
(3) Mission on Craftsmen Training
(4) Action Plan for skilling of marginalized groups in India

KKcT fH=KR SKI 2021 K^ feRIT RRT fr^I (NIPUN) KRcT fR¥R T̂T t ?
(1) ^PH -MIS) RT^RcTT sjfc TRSITJTH RT̂ Tff fWT
(2) tflcH'ISH 4) <441

(3) n*l <rM «=hH RRtft fWT
(4) KRcT 3 4]Hi cl % chl^lcn % 4) 441



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 853,

. 2, Option ID :- 854,

. 3, Option ID :- 855,

. 4, Option ID :- 856,
Answer Given:- 4, Option ID : -856

Question ID:- 215

Consider the following statements regarding India's economic responses to challenges posed by
the Covid-19 pandemic ?
(a) India adopted the 'Barbell Strategy' to meet the challenge posed by the pandemic
(b) There was total reliance on demand management rather than focussing on supply-side

reforms
Choose the correct answer from the codes below :
(1) (a) is correct but (b) is wrong
(2) (a) is wrong but (b) is correct
(3) Both (a) and (b) are correct
(4) Neither (a) nor (b) is correct

WTRt ^ VSCH-I % yfci T̂Rcf y P i n R i R a d "9T fd'dK

(a) *tkd ^ <ScM~1 Pi Hi') % felt*. * ®lK^cr1 =hl4^fd ’ 3iHdl4l I

(b) STPjfcf 3 TT Ml'd °TR fd^l ‘Nl I

RNl =£2 Tf TcR =fiT dilf̂ U. 1

(1) (a) t̂t 1% (b) RRcl tl
(2) (a) Rcffi % (b) 1? I

(3) (a) sftt (b) #ff R# 11
(4) (a) 3?R (b) 33 F̂tf

Consider the following statements :
(a) Indian Constitution does not allow the State to confer any tide except for military or academic

distinctions.

(b) A recipient of the 'Bharat Ratna' in India can use the honour as a prefix or a suffix to his or
her name.

Choose the correct answer for the codes below :
(1) (a) is correct but (b) is wrong
(2) (a) is wrong but (b) is correct
(3) Both (a) and (b) are correct
(4) Neither (a) nor (b) is correct



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 857,

. 2, Option ID :- 858,

. 3, Option ID :- 859,

. 4, Option ID :- 860,
Answer Given:- 2, Option ID : -858

Question ID:- 216

 Options:-

.1, Option ID :- 861,

. 2, Option ID :- 862,

. 3, Option ID :- 863,

. 4, Option ID :- 864,
Answer Given:- 2, Option ID : -862

Question ID:- 217

PinRiRad i

(a) T̂RcT îT TF̂ T^ 3T«T̂ T fl%̂ T •H'-HIdl ssl -Sdvt 3% ‘3TTTf̂ ^ <Hd*Hpd ^s?f ^cTT 11
(b) T̂ITcT Pf ‘ T̂RcT TcT’ UTO v̂RT T̂cfT 3RR F̂f % 3pR ycq-4 *) »-HM ^>T 3P?PT R̂ *i =bdli? I

dl Î RlJ, RFf ^72 ^ Tf?t 3TR^‘SPH di) PdM, I

(1) (a) Wft 1% (b) Remtl
(2) (a) 7IeRTt 1̂ l (b) l# tl
(3) (a) sfk (b) #ff RFt 11
(4) (a) 3?lR (b)^ff ^ r̂^ tl

The material developed by Alexander Parkes in 1862 from heated cellulose was world's first use of

(1) Rubber
(2) Plastic
(3) Silicone
(4) Latex

U,P) =fcj|Ps< Hl5vH gRI^1862 *f R1!%!?; TT^dl Ĥ ^ Pddiftld fllHiPl =F>T Trt H$dl TPfPT
8TTI

(1) TT?
(2) KllPfddi
(3) P̂ RldPld
(4) ddfHfd- *̂! ( rT^Rl)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 865,

. 2, Option ID :- 866,

. 3, Option ID :- 867,

. 4, Option ID :- 868,
Answer Given:- 1, Option ID : -865

Question ID:- 218

 Options:-

.1, Option ID :- 869,

. 2, Option ID :- 870,

. 3, Option ID :- 871,

. 4, Option ID :- 872,
Answer Given:- 2, Option ID : -870

Question ID:- 219

Which among the following statements about the 'Green Revolution' in India is incorrect?
(1) It was not a food sufficiency initiative
(2) It was based on a strategy of using high-yielding variety seeds to increase production
(3) The effect of the Green Revolution on agricultural growth was the highest in wheat production
(4) As part of the initiative, the Government gave a guarantee to buy the produce of the farmers

at a given price

R1RT if sfiTfa ’ fTHfdf̂ d if ^ RT Wi WlHff t ?
(1) R?Tara Wfai Ref Rf «ft i

(2) R dcHIdd R?f RFf % fen* RTF! 1dvFf % RIR!Rft y <ibl =hl^dlfd "R RTRTfcT 8ft I

(3) =Ffd if R Hftcf sFffo Rf RRTR if RRffRR Rf I

(4) Ref % TR RFT % RR if, if fRRFTf Rf dRT dft TT^crT R Rf JIKdt «ft I

Which of the following pairs of names of countries and the currency they follow are incorrectly
matched ?
(1) Argentina
(2) Brazil
(3) Estonia
(4) Ghana

Peso
Forint
Euro
Cedi

^11 3fR UKI 3RFU| % dlH did fdHfelftsld ^JtTl if if difd if Rf ihdH Rift dlft 1? ?
(1) 3^dldl
(2) sildlcd
(3) HF̂ fddl
(4) RHf

ifRt
Rffc

irsf
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 Options:-

.1, Option ID :- 873,

. 2, Option ID :- 874,

. 3, Option ID :- 875,

. 4, Option ID :- 876,
Answer Given:- 4, Option ID : -876

Question ID:- 220

Consider the following statements regarding CUES :
(a) CITES is an international agreement between different governments called the Convention

on International Trafficking of Endangered Species of Wild Fauna and Flora (CITES).
(b) CITES ensures that species of animals and plants remain protected.
(c) Dolphins and Orchids are species protected by CITES.
Choose the correct answer from the codes below :
(1) only (a)
(2) only (a) and (b)
(3) only (b) and (c)
(4) only (a) and (c)

# airf zl i TRT (CITES) % *¥ finfciftad tR dilfruj. I

(a) # 3TFf zt f TRT 7R =FRt % 3TcRTR?Rf ^ TTTiZFFT %
3#TWI (CITES) 11

(b) Fit Zt if TRT •Ms? ^tf^d =Mdl tT ’f'F WTR) 3TR y '̂ Ilfd 'HI FTTf^TcT Ti? I

(c) SlHryvl 3fR 3HIT4IS # Zllf Zf 4 FR $JRT TRfeFT iMlfcMT11
zHf 7HI^Z R FfifI ZTR

(1) %cieT (a)

(2) % T̂ (a) #1(b)

(3) (b) (c)

(4) (a) #C (c)

Which two parties signed the 'Act of Union' in 1707 which resulted in the formation of the 'United
Kingdom of Great Britain' ?
(1) England and Scotland
(2) England and the Republic of Ireland
(3) Northern Ireland and Wales
(4) Wales and Southern Ireland
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 Options:-

.1, Option ID :- 877,

. 2, Option ID :- 878,

. 3, Option ID :- 879,

. 4, Option ID :- 880,
Answer Given:- 2, Option ID : -878

Question ID:- 221

 Options:-

.1, Option ID :- 881,

. 2, Option ID :- 882,

. 3, Option ID :- 883,

. 4, Option ID :- 884,
Answer Given:- 4, Option ID : -884

Question ID:- 222

f̂ T ^t ^eTf 1707 "if ‘ "QRZ ^fWI&R fei f3RT% TOWI ‘ ^'Ilsi-S 3TFP> flf^l'

°BT 4 IcJH|>3TT ?
(1) 3^R T̂e<rfs
(2) ^rf -S 3fR 3TRR^fe JIUKM

(3) '3rRt SlFR^fe 3?K
(4) 3|R

Which of the following films made in 1976 was set in the backdrop of the White Revolution in
India ?
(1) Tamas
(2) Manthan
(3) Udaan
(4) Aarohan

*fTCcf sblPd ^1976 fWH «ft ?
(1)
(2) WT

(3)
(4) 3u<l$u|
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 Options:-

.1, Option ID :- 885,

. 2, Option ID :- 886,

. 3, Option ID :- 887,

. 4, Option ID :- 888,
Answer Given:- 3, Option ID : -887

Question ID:- 223

Consider the following statements regarding Indian classical dance :
(a) A dance form is considered classical if it adheres to the guidelines laid down in Natya Shastra
(b) The Sangeet Natak Akademi conferred the classical status to Sattriya Nritya making it the

eighth Indian classical dance style in 2000
Choose the correct answer from the codes below :
(1) only (a) is correct
(2) only (b) is correct
(3) Both (a) and (b) are correct
(4) Neither (a) nor (b) is correct

(a) ( HVHI CTMY WTfa RTHT T̂Rn t TT f^TT TTI HlelH Hvtdl I

(b) TPftcl HId4> 3H «=bl<Hl ^ ^ 2000 TTRlft f̂T c Ŝff ^cfR ^ Stldcff *|Rd|i|

fleft c>HMI I

TT ~3pZ IT Tiff ^>T TTT =hlP=1Tl
(1) % ĴH (a) TT?ttl
(2) % T̂ (b) # tl
(3) (a) 3fR (b) TtTf f I

(4) (a) 3?k (b) ^ ^11

Who among the following has been awarded a one-time Sangeet Natak Akademi Arnrit Award
under Azadi Ka Amrit Mahotsav (AKAM) in the field of Hindustani Instrumental (Violin) ?
(1) Makhan Chandra Borah
(2) Raghubir Mallik
(3) Suman Kumar
(4) Minoti Khound
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 Options:-

.1, Option ID :- 889,

. 2, Option ID :- 890,

. 3, Option ID :- 891,

. 4, Option ID :- 892,
Answer Given:- 1, Option ID : -889

Question ID:- 224

 Options:-

.1, Option ID :- 893,

. 2, Option ID :- 894,

. 3, Option ID :- 895,

. 4, Option ID :- 896,
Answer Given:- 3, Option ID : -895

Question ID:- 225

PinRlRad ^ 'HkdV-l ( dl^Pdd ) % ^ 3iMld) WI 3PJcl H ÎĈ R (AKAM) % 3TcFfcT
kJf)d Hltich <H <*>«Ml 3FJrf ^<<<hk TRR f?RT W t?
(1) HKSM

(2) <^<dU Hprd <=b
(3) 1*R l^K

(4) Pkdldl wfe

Which of the following statements is incorrect about the function of a Control unit in a
computer ?
(1) It coordinates between the input and output devices of a computer.
(2) It does actual processing of data.
(3) It tells when to fetch tire data and instructions, what to do, where to store the results, the

sequencing of events during processing etc.
(4) It holds the CPU's Instruction Set, which is a list of all operations that the CPU can perform.

3 4)did PHHPclftsld 3^ îR R R̂ "STF!dff % ?
(1) ^TF 3?R 3^|<5d^d P̂ dis-H *1 HH'dd WpR % I

(2) ^ dlRPdd) ylftPkd dTRT % l

(3) ^ ylkPrlk % dfapf FTZT 3?R 3T^?T 'dR 1JTR =FRl f , dR ^vRI %, iPRIlkt'^ RlT P7RT % cTSTT

^kl =blfkJl $cdli< % ddldl % I

(4) PTRT PPFT t ^"Wl 3RT^H*f 'dTl 'SJPt Fftft 1?^Pt Fl PdRt
tl
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 Options:-

.1, Option ID :- 897,

. 2, Option ID :- 898,

. 3, Option ID :- 899,

. 4, Option ID :- 900,
Answer Given:- 2, Option ID : -898

Question ID:- 226

 Options:-

.1, Option ID :- 901,

. 2, Option ID :- 902,

. 3, Option ID :- 903,

. 4, Option ID :- 904,
Answer Given:- 3, Option ID : -903

From which of the following African countries eight Cheetahs were brought and introduced into
Kuno National Park in September, 2022 ?
(1) South Africa
(2) Namibia
(3) Botswana
(4) Tanzania

2022 3TT3 ’efirl f =bh ^ dlM, ^?
(1) SiBh'til
(2) H ^U M \

(3)
(4)

As per Remittances Brave Global Headwinds Report by World Bank Group released in November
2022, which of the following countries is expected to see the top recipient for remittances in
2022 ?
(1) China
(2) India
(3) Nigeria
(4) Mexico

f^?3f ofo 'gRT 20223 *fRt \fptfFR^ ft1^% 3FJSTR 2022 %

^Tf r̂r̂ TT t?
(1)
(2) 'FPtcT

(3) dlS'JllR'MI

(4)
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Question ID:- 227

 Options:-

.1, Option ID :- 905,

. 2, Option ID :- 906,

. 3, Option ID :- 907,

. 4, Option ID :- 908,
Answer Given:- 2, Option ID : -906

Question ID:- 228

 Options:-

Which of the following statement (s) is/are correct about Range of Hearing ?
(a) The audible range of sound for human beings extends from about 20 Hz to 20000 Hz.
(b) Children under the age of five years can hear upto 25000 Hz.
(c) Sounds of frequencies below 20 Hz are called Ultrasound.
Choose the correct answer from the codes below.
(1) only (a) is correct
(2) only (a) and (c) are correct
(3) only (a) and (b) are correct
(4) only (b) and (c) are correct

W TTRT % 3 PdHfdftsId 3 Tl R# f/f ?
(a) W %1m, TO? 20 Hz320000 Hz11
(b) 5 Tl ^ 25000 HzMff THicf f I

(c) 20 Hz ^ TR Tft 3iTffrT ''RT^TpT =b5elldl 11

^>£<il Tfi?t <5d<^I

(1) % l̂ (a) ^ttl
(2) % f̂ (a) afo (c) Wttl
(3) (a) 3fR (b) Wf 11
(4) % l̂ (b) #t (c)^fl

What is the angle in which the axis of Earth is inclined to its orbital plane ?
(1) 23.5°
(2) 27.5°
(3) 66.5°
(4) 72.5°

35 RT 3>1|JI % ^)T 3-ISif HHdd <HMd 5ldl % ?
(1) 23.5°
(2) 27.5°
(3) 66.5°
(4) 72.5°
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.1, Option ID :- 909,

. 2, Option ID :- 910,

. 3, Option ID :- 911,

. 4, Option ID :- 912,
Answer Given:- 3, Option ID : -911

Question ID:- 229

 Options:-

.1, Option ID :- 913,

. 2, Option ID :- 914,

. 3, Option ID :- 915,

. 4, Option ID :- 916,
Answer Given:- 2, Option ID : -914

Question ID:- 230

Consider the following statements regarding Sreeja Akula, one of the most outstanding Table
Tennis players from India :
(a) She is the winner of Gold Medal (Mixed Doubles) in Commonwealth Games, 2022.
(b) She is the winner of Silver Medal (Women's Doubles) in Commonwealth Championship,

2019.
(c) She was awarded the Arjuna award in the year 2021.
Choose the correct statement/s from the codes given below :
(1) only (a) and (b)
(2) only (a) and (c)
(3) only (b) and (c)
(4) only (c)

*TTCcT '3c=fre Rskrllf^ff 3 Tf sfolT % ^Tt 3 PinRlRacI

(a) itvf , 20223 (fafSR fMtcTT f I

(b) T? f̂fWlfiTT, 2019 R TSfcl ( bfedl ) °F>t fa*!cl I % I

(c) "3?!^20213 3RR Rh^l JNI 2f[|

TNJ ÊR ehlRjlk. I

(1) (a) 3?fc (b)
(2) (a) 3?R (c)
(3) (b) 3fR (c)
(4) (c)

What is the theme of the 108th Indian Science Congress held in January 2023 ?
(1) "Science and Technology for Sustainable Development with Women Empowerment".
(2) "Science and Technology for Sustainable Development".
(3) "Science and Technology for Women Empowerment".
(4) "Science, Technology and Inclusive Development".
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 Options:-

.1, Option ID :- 917,

. 2, Option ID :- 918,

. 3, Option ID :- 919,

. 4, Option ID :- 920,
Answer Given:- 1, Option ID : -917

Subject : RA _Q51-Q70_TGTPHE

Question ID:- 231

 Options:-

.1, Option ID :- 921,

. 2, Option ID :- 922,

. 3, Option ID :- 923,

. 4, Option ID :- 924,
Answer Given:- 4, Option ID : -924

Question ID:- 232

'sMciO, 2023 3 STRtf T̂cT 108 f̂ ^Kdl l̂ Pd^H dililfl TĴ T fa <14 ( sfta ) WQ\%?
(1) ‘ Mfedl HdP'kldK0! % TflSJ TETrT Pddil'H tcj, fadM 3?R V̂ilPldil ’

Pd =bHH % fm, P=UM 3^[ if|^Pl«f »V
(3) H^CII HJflfarWJI % fvPJ fa;?IM 3^k iflylPlohV

(4) ‘ PddH, JjWlPl=hl 3^tT tH *-|fadl fa =hw ’

(2) ‘TEIcf

Choose the missing letter cluster from the given series that follows the same sequence ?
TOP, SMM,

(1) RLN
(2) RKK
(3) QKN
(4) QKJ

NIG, JGD, EEA

^ ^psldl P' eJET 3T$R 4EJi? ^PET dilPdM. faPT TT^ cf^> eTPJ^

'gtdT11
TOP, SMM,

(1) RLN
(2) RKK
(3) QKN
(4) QKJ

NIG, JGD, EEA
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 Options:-

.1, Option ID :- 925,

. 2, Option ID :- 926,

. 3, Option ID :- 927,

. 4, Option ID :- 928,
Answer Given:- 2, Option ID : -926

Question ID:- 233

Five friends A, B, C, D and E appeared in five different entrance exams P, Q, R, S and T (not
necessarily in the same order ). 'A' did not appear in exam 'S' but wished good luck to 'D' for
exam 'Q'. 'B' appeared in 'R'. 'C' neither appeared in exam 'S' nor in exam 'T'. Who appeared
for exam 'P ?

(1) A
(2) C
(3) E
(4) D

TIP? fP3 A, B, C,D 3fk E PFt ferf^FT Trffonaif P, Q, R,S T sFR if ) if PFT 3% f I ' A' ,‘S'
pften if PFT P#' eRn t 'D' 'Q' TRNJT % ^cn11'B', 'R' if PFT ^Tcn11'C',P <?r
'S' PtyT if 3?ft Pft T pftefl if PET elcfT11 'F PlfetT if PFT ^cfT t?
(1) A
(2) C
(3) E
(4) D

A given statement is followed by two courses of action numbered I and II. It is assumed that
everything in a statement is true then decide which of the courses of action logically follow (s) for
pursuing ?
Statement : A very few youngsters choose sports as their career option.
Course of action :
(I) Sports should be made compulsory at higher education level.
(II) Affordable facilities should be made available at all districts of State.
(1) Only (I) follows
(2) Only (II) follows
(3) Both (I) and (II) follow
(4) Neither (I) nor (II) follows
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 Options:-

.1, Option ID :- 929,

. 2, Option ID :- 930,

. 3, Option ID :- 931,

. 4, Option ID :- 932,
Answer Given:- 2, Option ID : -930

Question ID:- 234

 Options:-

.1, Option ID :- 933,

. 2, Option ID :- 934,

. 3, Option ID :- 935,

. 4, Option ID :- 936,
Answer Given:- 4, Option ID : -936

Question ID:- 235

TJcFT RRR FjRT RRl % sffc RR RT cbl^cii^i I sffT HR!R^f 1^RfRR %RT RTF;%RiRR R>1 1R T̂cT
Ffft t rft Ri? 'FMR =Ktf̂ H "%^Rt <*>1^4(1' if ^ RIR FT) =hl(cj|^ rlTf^Ro ^R Ft R?) RI RRdl f /f ?
R7SJR :

cFT^cnf : (I) RRcR fW FRF RF R7) ^Pjc)|4 RRRI RRT RTftR; I

(II) FF3R % FTRt fRR) R RiFTtR FjfRRTR <JHd«R =b<IRl RR) RlflR; I

(1) %RR (I) R^ RT FIRdl %
(2) %RR (II) R)t "RT ^=hdl
(3) (I) 3fa (II), RFff Rit RT FRRt f
(4) FlRTcft f

R§d RRT il'JlciM F^FT RTT 3H >-MI %fFRF fRRiFR '^Rrf 1? I

Six siblings A, B, C, D, E and F are studying in different classes from first to sixth class, (no two
siblings are studying in the same class). ' A' is one class senior to 'B'. 'C is two classes senior to 'E'.
'F' is three classes senior to 'E'. 'A' is either in first or second class. If 'F' is the senior most sibling
then who is studying in class three ?
(1) B
(2) C
(3) D
(4) E

W Rlf-RiTR A, B, C, D, E 3?fc F H ^d1 Fl '331R>3fl if 3TdR-RfdR Ri^TRFf if R3T^ RR Ft11 (Rtf Rf RTf-RIR
RRT # TO3R# R3FF1t) 1 'A' ,'B'^ R =F TO 3TFt11'C' ,'E'^ Rt TO 37Ft 11' ¥' ,'E' ^1 cfRr TO RFt11
'A' RT Rt H6dl R>§IT if % 3FRRT ^FIFt R^RI Ff I Rft 'F' Rlf-RIRt Ff FTRFt R31If Rt R>SR cfR if RTN R3lf R>F Ff?T
t ?
(1) B
(2) C
(3) D
(4) E
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 Options:-

.1, Option ID :- 937,

. 2, Option ID :- 938,

. 3, Option ID :- 939,

. 4, Option ID :- 940,
Answer Given:- 2, Option ID : -938

Question ID:- 236

 Options:-

.1, Option ID :- 941,

. 2, Option ID :- 942,

. 3, Option ID :- 943,

. 4, Option ID :- 944,
Answer Given:- 3, Option ID : -943

'M' is brother of 'N' and 'O' is sister of 'M'. 'K' is brother of 'L'. 'N' is mother of 'L'. How is 'O'
related to 'K' ?
(1) Paternal Aunt
(2) Maternal Aunt
(3) Mother
(4) Sister

'M', 'N' 44 t 3?ll 'O', 'M' 4^ 4?411'K', 'L' 44 11 'N', 'L' 4T4T 11 'O' 44 'K'3 44T 1144 t ?
(1) ^4T4t
(2) 4T4t
(3) W

(4) 4F4

A watch shows the time of 10 : 15 hours (10 hours 15 minutes ). If the minute hand points South,
in which direction will the hour hand point ?
(1) North West
(2) Nor tli
(3) North East
(4) East

4 1̂ 10 : 15 (10 15 fadd) 44 4104 dVlfdl % I 4f? fadd 4>t Ijf 4>t 3ltl $Plc1 4> <dl % 41 4TI
lj|f =bH fd^II 4>t 3tR ^ Pld ?
(1) 441

(2) 441

(3)

(4)
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Question ID:- 237

 Options:-

.1, Option ID :- 945,

. 2, Option ID :- 946,

. 3, Option ID :- 947,

. 4, Option ID :- 948,
Answer Given:- 1, Option ID : -945

Question ID:- 238

 Options:-

.1, Option ID :- 949,

. 2, Option ID :- 950,

A delegation of four language teachers (two from each language ) to Nepal has to be chosen from
seven post - graduate teachers. A, B, and C are the teachers of English and P, S, R and T are the
teachers of Hindi. Either B or P can only be chosen. C cannot go with S. P and R do not like each
other. If P is chosen for the delegation who are the other members of the delegation ?
(1) A C T
(2) B C T
(3) A B S
(4) ACS

FTcT ETRT^ITR SR'MIH'hl 3if 'lMid P *TTTT RTTT %^1) ^^t f I A,
B 3fKC 3fM % R^ P,S, R 3faTfl̂ f % 3FZTTWfrB' ^ ^ ÎTRIwlTt I 'C,
'S' % FPI R?f *ft 41=bdl % I 'F 3?R'R' 'FT^ Rif RFct % I RfR 'F Rif % fet^ ^pTI f̂lRT %
eft fwfed % 3PT FRFT R?|R ifif ?
(1) ACT
(2) BCT
(3) ABS
(4) ACS

In a certain code language 'CARBON' is written as 'EDTEQQ' then how will 'BORROW' be written
in that language ?
(1) ERUURZ
(2) DRTUQZ
(3) EQUTQZ
(4) DQUTQV

RTTTP 'CARBON' RTt 'EDTEQQ' fdHT 'STTcTT t cTt foR RFf ^TTT3'BORROW' R>1
3FFR tcFsTT RUPIT ?
(1) ERUURZ
(2) DRTUQZ
(3) EQUTQZ
(4) DQUTQV
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. 3, Option ID :- 951,

. 4, Option ID :- 952,
Answer Given:- 2, Option ID : -950

Question ID:- 239

 Options:-

.1, Option ID :- 953,

. 2, Option ID :- 954,

. 3, Option ID :- 955,

. 4, Option ID :- 956,
Answer Given:- 1, Option ID : -953

Question ID:- 240

From the given alternative words, select the word which cannot be formed using tire letters of the
given word.
INSTRUCTION
(1) STRONG
(2) TRUST
(3) SORT
(4) CRUST

TIT facfcrHl T Tt <511 TiT TTT TIT TT TTTT Tff ®MNI TIT
t ?
INSTRUCTION
(1) STRONG
(2) TRUST
(3) SORT
(4) CRUST

Given below is a question followed by two statements numbered I and II, each containing some
information. Decide which of the statement (s) is/are sufficient to answer the question ?
In which year was Mala's sister born ?
Statement I : Mala's sister is 2 years younger than Manoj who was 5 years older than Mala

and bom in 1997.
Statement II : Mala was born in 2002 who is three years younger than her sister.
(1) The statement I alone is sufficient to answer tire question while the statement II alone is not

sufficient to answer tire question
(2) The statement II alone is sufficient to answer the question while statement I alone is not

sufficient to answer tire question
(3) Both statements I and II together are necessary to answer the question
(4) Either the statement I alone or statement II alone is sufficient to airswer tire question
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 Options:-

.1, Option ID :- 957,

. 2, Option ID :- 958,

. 3, Option ID :- 959,

. 4, Option ID :- 960,
Answer Given:- 4, Option ID : -960

Question ID:- 241

WT f^TT W % ^ F̂T I II f^T TJTI f > fin4 yc^ob if ^T*5 's1M =bl<l ^ f I 3Pt^fT°fa *1^1% T̂R TIT7& ‘Sf^T F̂T ’3TR^% fefH M'MikI % ?
RTcTl F̂>t !̂R T̂f " F̂R f^vR °r4 if f3TT «IT ?
3F2R I ; BTFTT "R%5f ^ 2^ t5tzt f ^ ’RTcTT 35 ^5T t #1 ^RT 1997if IjSTT ?n|
QR2R II : RR1T ^>T "5RT 2002 if ffSTT f̂t 3Fpft WT it cfl̂ T ^ *5tst f I

(1) ^jSR - I 3T% f̂ 7̂ TrR^% f^TtJ, H'lM % *Hf =b - II 3#7^f 'STR îT ^3TR eft %%Q; ^PltRT
% l

(2) ^T8R - II 31%ft WT T̂ ^STR H4><1 % 'sHPt) - I 31%ft WT ^FT '3erc eft % M^fm Riff
tl

(3) ^8R - I 3lfa ^> 2R - II ^ftf ^HI8I Wf R>I '3TTC ^ % f^R 3IT^R> f I

(4) F̂2R - I 31%ft 3PRT ^FSR - II sftftt WT RFT RrR f̂t % % I

Three statements are followed by two conclusions numbered I and II. Find out which of the
conclusions is/are true based on the given statements.
Statements : M> N

O > P = M
K < N

Conclusions : (I) N < O
(II) P > K

(1) Only (I) is true
(2) Only (II) is true
(3) Both (I) and (II) are true
(4) Neither (I) nor (II) is true
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 Options:-

.1, Option ID :- 961,

. 2, Option ID :- 962,

. 3, Option ID :- 963,

. 4, Option ID :- 964,
Answer Given:- 3, Option ID : -963

Question ID:- 242

 Options:-

.1, Option ID :- 965,

. 2, Option ID :- 966,

. 3, Option ID :- 967,

. 4, Option ID :- 968,
Answer Given:- 4, Option ID : -968

Question ID:- 243

cffa Fitch4 - I 3?R II f^TT TR f I jTRf chlfam, ^ % 31PIR T̂R f̂ °F>4 Wf
t/t?

^JSH : M^N
O > P = M
K < N

: (I) N < O
(II) P > K

(1) %3RIR#t
(2) %5TR II^t
(3) I 3fRlI^tRr^t f
(4)

Six boys A, B, C, D, E and F are playing board game sitting in a circle facing towards the centre.
'A' is sitting opposite to 'B' who is between'C' and 'D\ 'A' is sitting between 'E' and 'F'. 'E' is to
the left of 'D' ? Who is sitting opposite to 'D' ?
(1) A
(2) B
(3) C
(4) F

W eTfefr A, B,C, D, E 3#? F^^rT3'3FI% ^ Sift TpT ^d=h< %T tslR Tf? f I 'A', 'B'% RFT̂ f

^3Tt T̂t ,Ca|k'D'%^^3ltl 'A', 'E'R*TT 'F'% 3%1 idl % I 'E'/D'% P̂lf ^3T 11'U
%lt?
(1) A
(2) B
(3) C
(4) F
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 Options:-

.1, Option ID :- 969,

. 2, Option ID :- 970,

. 3, Option ID :- 971,

. 4, Option ID :- 972,
Answer Given:- 3, Option ID : -971

Question ID:- 244

Two statements are given below and they are labelled as Assertion (A) and Reason (R).
Assertion (A) : Breathlessness is one of the symptoms of Anaemia.
Reason (R) :
Select correct answer with the help of code.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

Anaemia affects the lungs of the human beings.

^t f5F% (A) rfcfc (R)^TP f^TT PT % I

(A) : < =WlcrMdl =FT cTSFT 11
TTcfc (R) ; <=k1 l <rHdl PFTP P>t UPTfocf PFdT 1? I

pft «H6Nc1 l ^ TrR TT 'PPB cbir̂ iJ,

(1) (A) (R), #Tf t P«TI (R), (A) T̂T̂ U t 1

(2) (A) 3^(R),^Tf^f (R), (A) t̂TlWt l̂T̂ lT^f tl
(3) (A) Tf^tf^(R) PoRT|l

(4) (A) TFRf f 1% (R) 11

:

If Tx Q' means T is daughter of Q\ T+Q' means 'Q is wife of F and 'P % Q' means 'P is mother
of Q', then how is N related to S in the given statement ?
M % N +TxS
(1) Son
(2) Son-in-law
(3) Brother
(4) Brother- in- law

^'PxQ' TT 3pf tlVF/Q'^-'pftt, T+Q' TT t% 'Q', 'F Pit Pet t cIPT T%Q' TT 3Pf f %
'F, 'Q' t̂WTt WfMToN +TxS^'N' T̂ 'S'^ n̂^t?
(1) ^(2) PTPF
(3)
(4) 'sftsfT/TfMl
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 Options:-

.1, Option ID :- 973,

. 2, Option ID :- 974,

. 3, Option ID :- 975,

. 4, Option ID :- 976,
Answer Given:- 2, Option ID : -974

Question ID:- 245

 Options:-

.1, Option ID :- 977,

. 2, Option ID :- 978,

. 3, Option ID :- 979,

. 4, Option ID :- 980,
Answer Given:- 3, Option ID : -979

Question ID:- 246

Seven pets A, B, C, D, E, F and G need to vaccinate but on different days of week starting on
Monday till Sunday (not necessarily in the same order ). 'F' is taken for vaccination on Tuesday.
'B' is taken for vaccination on the previous day of F. There are three days gap between the days on
which 'B' and 'G' are taken for vaccination. 'A' is taken for vaccination just after 'D'. There are as
many pets are vaccinated between 'G' and ' A' , as between'D' and 'E'. 'E' is vaccinated before 'D'

but not just before. Who is vaccinated on Sunday ?
(1) A
(2) B
(3) E
(4) G

TTTcf A, B, C, D, E, F G^ it <fc) c|K % 3RFT-3TCF7 (f??t Ff
Iff ) ZfeiT "STRlt? I HBdeiH t̂zt=FT vFldlBI BBII 'B' =fit 'F' % f<d Bfc^Zto dJlcilBI W I 'B'

'G' t̂ c f N f^T =FI 3TcR 11 'A'^t 'D' % dcdild Wf^>1 FETTER 7FTTI 'G' 3flR
'A'% ft Zt̂ iT crl'MlBI 'W ffcFTT f^T 'D' 'E' % FTWRT RRT «R I 'E' t̂
'U it Rfc^,

(1) A
(2) B
(3) E
(4) G

RfcT Iff, zt3FE vtBctNi EFT I tfcMK Eit tEFiit Zfaf FFTEFTT EBT ?dr=hld

A group of alphabets are given with each being assigned a number. Select the combination of
numbers so that die letters arranged accordingly will form a meaningful word.
A O S R T
1 2 3 4 5
(1) 3 4 5 1 2
(2) 4 15 3 2
(3) 4 2 13 5
(4) 2 4 5 13
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 Options:-

.1, Option ID :- 981,

. 2, Option ID :- 982,

. 3, Option ID :- 983,

. 4, Option ID :- 984,
Answer Given:- 3, Option ID : -983

Question ID:- 247

RHi T̂T EEJe? f^TT EET % Pd*lM !>lc4d> °̂f % fcTQ; T^3TE> ftfctfftcT f4vET TET113?T tPoMl EEJs? EfiT ÊET
cbl'PsfM, cUfe 3E1% 3H^K OM =»R̂ CT ferti EE E#’ ElTsfET ?F^ SRTET EfI El%|

A O S R T
1 2 3 4 5
(1) 3 4 5 1 2
(2) 4 1 5 3 2
(3) 4 2 1 3 5
(4) 2 4 5 1 3

The question has two statements followed by two conclusions numbered I and II. If it is assumed
that the two given statements are true even if they seem to be at variance from commonly known
facts, then decide which of the following given conclusions logically follow (s) from the two given
statements.
Statements : Some chairs are tables.

Some chairs are beds.
Conclusions : (I) Some beds are chairs.

(II) Some beds are tables.
(1) Only conclusion (I) follows.
(2) Only conclusion (II) follows.
(3) Either conclusion (I) or conclusion (II) follows.
(4) Both conclusions (I) and (II) follow.

Et l̂ El EE f Et Pitch4 -1 II fEE TpT f I 3TTWI EE HM-II 1? fEE EE EiEE EE>f f "ETI?
EE EfTREEE: slTE cT«zff Et f*FT El EEt E El’ I 3TE 3EE Pi^E chlPdE fE> fEE EE ETEEl El dlP4> =b EE if EIT/Ef
Pdtch4 P4chddl/Pl<=hdcl f I

<|E5 JPU^T |f I

^>*5 JRIET ERE f I

(I) ^5 ERE JP̂ EI ?> I

(II) =fr£5 ERE ifR11
(1) %ER fiw4 (I) PdExddi % I

(2) 4)del Pitch 4 (II) Pi =heldl % I

(3) PTRT4 (I) REEF fE®pf (II) pEETRcfl 11
(4) PFE4 (I) 3% (II) #Tf f I

EJEE :

Pdbcb 4 :
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 Options:-

.1, Option ID :- 985,

. 2, Option ID :- 986,

. 3, Option ID :- 987,

. 4, Option ID :- 988,
Answer Given:- 1, Option ID : -985

Question ID:- 248

 Options:-

.1, Option ID :- 989,

. 2, Option ID :- 990,

. 3, Option ID :- 991,

. 4, Option ID :- 992,
Answer Given:- 2, Option ID : -990

Question ID:- 249

If in a certain code language 'stone beats scissor' is written as 'XYZ', 'scissor beats paper' is written
as 'YWX' and 'paper beats stone' is written as 'WZY', then what is the code used for 'scissor' in this
code language ?
(1) W
(2) X
(3) Y
(4) Z

tJjZ WI 'stone beats scissor'^'XYZ', 3Rndl "SUcTT 'scissor beats paper' 'YWX'
% cTSTT 'paper beats stone' 'WZY'% feK9l 'dldl % eft ^TZ 'scissor'% feli< ^TZ

t̂ n TRT t?
(1) w
(2) X
(3) Y
(4) Z

In the following question two positions of the same dice are given. Find the number of dots at the
face opposite to the face having 6 dots.

OO O
O

o °
O

o
oo o

o o
(1) 1
(2) 4
(3) 5
(4) 3
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 Options:-

.1, Option ID :- 993,

. 2, Option ID :- 994,

. 3, Option ID :- 995,

. 4, Option ID :- 996,
Answer Given:- 1, Option ID : -993

Question ID:- 250

PinRiRad wi ^ ^f i w T̂ef
TRsT ^mTTt ?

^hel^ % fennel 31^ '-hei'+i qr 1^3Tf

oo oo of° «O 0
o o|

o
oo o

o o
(1) 1
(2) 4
(3) 5
(4) 3

Select the Venn diagram that best represents the relationship between the following set of classes.
Graduates, Post-Graduates, Teachers
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 Options:-

.1, Option ID :- 997,

. 2, Option ID :- 998,

. 3, Option ID :- 999,

. 4, Option ID :- 1000,
Answer Given:- 3, Option ID : -999

Subject : CL_Q71-Q80_TGTPHE

Question ID:- 251

T77 srftn =FT dilPdM,
"5ft fanfirlfad f̂f % ThpT%^Nl % TR*-T^f (-IdldH 7̂ Tf d^lfdl %?

*-1!d =b, *-1ld«bkK, 37^IH =h

Which of the following is not a popular platform to provide resources for online classes ?
(1) Zoom
(2) Google Meet
(3) Acrobat Reader
(4) Microsoft Teams
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 Options:-

.1, Option ID :- 1001,

. 2, Option ID :- 1002,

. 3, Option ID :- 1003,

. 4, Option ID :- 1004,
Answer Given:- 3, Option ID : -1003

Question ID:- 252

 Options:-

.1, Option ID :- 1005,

. 2, Option ID :- 1006,

. 3, Option ID :- 1007,

. 4, Option ID :- 1008,
Answer Given:- 2, Option ID : -1006

Question ID:- 253

PIHRIRSKI RT 3HMdl 5'1 =F$n3tf %%Q; WH cJHel^ T̂I cff̂ ftPT % ?
(1) ^(2)
(3) ftiR
(4) Hl^sblflT'+i ztRT

is a small image representation of a larger image, usually intended to make it easier
to manage group of larger images.

(1) Compressed image
(2) Thumbnail
(3) Clipart
(4) Bitmap graphic

A

"^T IJlcft f 3HlMdfl < TR fSRT T̂ 3TWFT % "Rijf ?̂f STRlFft

^ST̂ vRT^tcTT % I

(1) ^5f

(2)
(3) f̂ tw£
(4) illPb=b

Which of the following is not a popular example of web based search engines ?
(1) Bing
(2) Edge
(3) Yahoo
(4) Google
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 Options:-

.1, Option ID :- 1009,

. 2, Option ID :- 1010,

. 3, Option ID :- 1011,

. 4, Option ID :- 1012,
Answer Given:- 2, Option ID : -1010

Question ID:- 254

 Options:-

.1, Option ID :- 1013,

. 2, Option ID :- 1014,

. 3, Option ID :- 1015,

. 4, Option ID :- 1016,
Answer Given:- 3, Option ID : -1015

Question ID:- 255

PinfetRsm ITT TRT^STTmfer TT^f^R ŜT RRifiPT <Sdl6<ul R?f % ?
(1) 15PT

(2) T^T

(3) ^(4) TJM

Which of the following is the biggest audio file in terms of storage size ?
(1) music.mp3 of 100 KB
(2) music.mp3 of 100 MB
(3) music.mp3 of 10 GB
(4) music.mp3 of 1 GB

TTff f̂ % TT^3 PinfclRsld 3 TT TT̂ TT Sfffeff "RTfcT Tit %?
(1) music.mp3 of 100 KB
(2) musicjnp3 of 100 MB
(3) musicjnp3 of 10 GB
(4) music.mp3 of 1GB

Which of the following software is the default to play audio files in Windows computer system ?
(1) VLC media player
(2) Windows media center
(3) Windows media player
(4) Quick time Player
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 Options:-

.1, Option ID :- 1017,

. 2, Option ID :- 1018,

. 3, Option ID :- 1019,

. 4, Option ID :- 1020,
Answer Given:- 3, Option ID : -1019

Question ID:- 256

 Options:-

.1, Option ID :- 1021,

. 2, Option ID :- 1022,

. 3, Option ID :- 1023,

. 4, Option ID :- 1024,
Answer Given:- 2, Option ID : -1022

Question ID:- 257

PinPelRsld "4 Tf 4IT PPsM pH«H 4f 3liTs4l 4il5d R T̂ P̂ lrd % ?
(1) ^ "Q^T # MIPS-MI ^rP-K
(2) RsR 41P̂ I #3

(3) P4sR 4fei R^R

(4) P=M =b ZTfP RjR

Internet is an example of :
(1) LAN
(2) WAN
(3) PAN
(4) MAN

Ptv(H=hl TJ^7 <5<I6<UI % ?
(1) T^HITPI (LAN)
(2) ^^TTTpT (WAN)

(3) itiTTnt (PAN)

(4) TTCf TT -q^T (MAN)

Jones De is interested in creating a project report on a document using an open source software.
Which of the following will you suggest for the same ?
(1) MS Word
(2) Calc
(3) Impress
(4) Writer
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 Options:-

.1, Option ID :- 1025,

. 2, Option ID :- 1026,

. 3, Option ID :- 1027,

. 4, Option ID :- 1028,
Answer Given:- 4, Option ID : -1028

Question ID:- 258

 Options:-

.1, Option ID :- 1029,

. 2, Option ID :- 1030,

. 3, Option ID :- 1031,

. 4, Option ID :- 1032,
Answer Given:- 1, Option ID : -1029

Question ID:- 259

3TtT3 ^>T TPTlFT ^ RT T^> #jfaZ fRTt^ ^THT f I 31TT ?R%%13[
Z& f=b^=M ^|c|^?
(1) T^-QF -zi
(2) =hTĉ >

(3)
(4) T^Zl

Which of the following is the most common input device for a robot ?
(1) Sensors
(2) Touch Screen
(3) Scanner
(4) Magnetic Tape

<H~W %%T THRIFT fTJZ (431$^ 4ft H ?
(1) #RT

(2)
(3)
(4)

Which key combination is used to go to the end of a MS-Word document ?
(1) Ctrl 4 A
(2) Ctrl +1
(3) Ctrl + End
(4) Ctrl + Shift+i
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 Options:-

.1, Option ID :- 1033,

. 2, Option ID :- 1034,

. 3, Option ID :- 1035,

. 4, Option ID :- 1036,
Answer Given:- 4, Option ID : -1036

Question ID:- 260

 Options:-

.1, Option ID :- 1037,

. 2, Option ID :- 1038,

. 3, Option ID :- 1039,

. 4, Option ID :- 1040,
Answer Given:- 2, Option ID : -1038

Subject : PE_Q81-Q180_TGTPHE

Question ID:- 261

ijT-f TRT - ^ % 3TcT T̂FT % %Q; ^n TPTt^r wtn % ?
(1) Ctrl + A
(2) Ctrl + i
(3) Ctrl + End
(4) Ctrl +Shift + i

What is the full form of UMANG ?
(1) United Mobile Application for National Governance
(2) Unified Mobile Application for New-age Governance
(3) Universal Mobile Application for New-age Governance
(4) Unified Mobile Application for National Governance

WT (UMANG) HTB W t?
(1) HNi$d MiK ^Md

(2) Hl®H$d W

(3) -̂fl^d ‘'ER

(4) RfaTfeT 'tiK TRf^RT

Who has defined Physical Education as "Physical Education is the sum of man's physical activities
selected as to kind and conducted as to outcomes "?

(1) J. F Williams

(2) Lumpkin

(3) Barrow and Brown

(4) E H Cock
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 Options:-

.1, Option ID :- 1041,

. 2, Option ID :- 1042,

. 3, Option ID :- 1043,

. 4, Option ID :- 1044,
Answer Given:- 4, Option ID : -1044

Question ID:- 262

 Options:-

.1, Option ID :- 1045,

. 2, Option ID :- 1046,

. 3, Option ID :- 1047,

. 4, Option ID :- 1048,
Answer Given:- 1, Option ID : -1045

Question ID:- 263

JflKlfO* fST8JT FT £KT 'qftRTlRcT f̂ TT W t :

“ 5fll<if<4> f^T r̂r RHR % f̂ TT =hdTHt,^ sfp HM^fetci MR^IM) ^-4Picl FRR, RpT 11”
(1) *Rt£T>.

(2) <3*-HPM
(3) sfk 9H<5*1

(4) ^.R l̂.

Which of the following objective of Physical Education has not been given by National Plan of
Physical Education and Recreation ?

(1) Development of organic Fitness

(2) Development of neuro - muscular Skills

(3) Development of character and personality

(4) Development of emotion

FTP^ FfT^FT TFSfa WtfefT fW #T EcfRKq/ HH'K'FT %FTT 3 THpRfdd t?

(1) 3Fff^FPJ3FTT ^)T

(2) clinch ’̂ fpT fqchl'H

(3) sfp oqpwĉ R>T fq =hw

(4) TTt’TTO f R̂RRT
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 Options:-

.1, Option ID :- 1049,

. 2, Option ID :- 1050,

. 3, Option ID :- 1051,

. 4, Option ID :- 1052,
Answer Given:- 2, Option ID : -1050

Question ID:- 264

The cognitive objectives of Physical Education includes :

(A) Acquisition of knowledge

(B) Ability to think

(C) Interpreting knowledge

(D) Muscular Fitness

(E) Body-control and coordination

Select the correct code :

(1) only (A), (B) and (E) are correct

(2) only (A), (B) and (C) are correct

(3) only (B), (C) and (D) are correct

(4) only (A), (B) and (D) are correct

*lk)R=h f?T$n HcjllcHeb '3^f *)HPdd f :

(A) *1H MlP<1

(B) RCCIK ^iP'W Pq=tiK4

(C) 5tM oMNsMI ch <-1|
(D)

(E) ?Rk TO TOfTOT

FT?)' ^ :

(1) (A), (B) 3fR (E) t
(2) (A), (B) 3fR (C)W\ f
(3) (B), (C) #1 (D) f
(4) (A), (B) (D) Wt t
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 Options:-

.1, Option ID :- 1053,

. 2, Option ID :- 1054,

. 3, Option ID :- 1055,

. 4, Option ID :- 1056,
Answer Given:- 1, Option ID : -1053

Question ID:- 265

Which of the following is/are correct ?

(A) Endomysium wraps individual muscle fiber.

(B) Perimysium wraps bundles of fibers.

(C) Perimysium wraps individual muscle fiber.

(D) Epimysium enclose the entire muscle.
Select the correct option :

(1) only (A), (B) and (D) are correct.
(2) only (A), (C) and (D) are correct.
(3) only (A) and (B) are correct.

(4) only (B) and (D) are correct.

W t :

(A) jJKT FfcTT % I

(B) POHI^P̂ IH £KT fjtrTT f I

(C) £RT ‘Q'Fef TTOeT ¥Pn11
(D) SpHHlfWH F̂KTT 11
Wt r̂ «=t> crH^:

(1) (A), (B) (D) f I

(2) (A), (C) 3^ (D) ^tf I

(3) (A) 3^ (B) m\ f I

(4) (B) (D)^11
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 Options:-

.1, Option ID :- 1057,

. 2, Option ID :- 1058,

. 3, Option ID :- 1059,

. 4, Option ID :- 1060,
Answer Given:- 1, Option ID : -1057

Question ID:- 266

Which of the following is /are correct ?

Statement (I) : In a anaerobic reaction of glycolysis, glucose molecules are converted into pyruvic
acid through multiple steps.

Statement (II) : During glycolysis if oxygen supply is depleted, the pyruvic acids converted into
Lactic acid .

Select the correct option :

(1) Both statements (I) and (II) are correct.

(2) Both statements (I) and (II) are incorrect.
(3) Only statements (I) is correct.
(4) Only statements (II) is correct.

w?f 3 t/f i

(I) : % iRpIfadi yfdPsh’MI 4 RRff if if
tl

(II) : ^ddTlfdRi'Ji % "*4 4 % 41, Hl^Pddi 3BR <rlPte<*) if qRc)Rfd
ll

(1) (I) afa (II) w\11
(2) (i) 3fk (ii) 4r4f TMctti
(3) %°TR (I) Wt 11
(4) (H)^ 11
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 Options:-

.1, Option ID :- 1061,

. 2, Option ID :- 1062,

. 3, Option ID :- 1063,

. 4, Option ID :- 1064,
Answer Given:- 2, Option ID : -1062

Question ID:- 267

Which of the following is/are correct ?

(A) Gas exchange takes place at the alveoli.

(B) During expiration the external intercostal muscles and diaphragm undergo contraction.
(C) The largest amount of air that can be exchanged in the lungs is known vital capacity.

Select the correct option :

(1) only (A) and (B) are correct.

(2) only (A) and (C) are correct.
(3) only (B) and (C) are correct.

(4) only (A) is correct.

(A) 3 3TRH-IRR 11
(B) TTOvf ^tcTT % I

(C) 3 T̂RT cfpj efft SiffeRfRB R?T1 SFFdT =b£efldl f I

:

(1) (A) 3fk (B) WT t
(2) (A) (C)̂ t
(3) (B) (C) WI t
(4) %oref (A) WV f

Which of the following veins does not empty into the right Atrium ?

(1) Superior venacava

(2) Inferior venacava

(3) Coronary sinus

(4) Pulmonary veins
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 Options:-

.1, Option ID :- 1065,

. 2, Option ID :- 1066,

. 3, Option ID :- 1067,

. 4, Option ID :- 1068,
Answer Given:- 4, Option ID : -1068

Question ID:- 268

 Options:-

.1, Option ID :- 1069,

. 2, Option ID :- 1070,

. 3, Option ID :- 1071,

. 4, Option ID :- 1072,
Answer Given:- 2, Option ID : -1070

Question ID:- 269

# ftRT F̂fT MftctJty 3 HT# Wt f ?

(1) HSlP̂ KI

(2) HSlPfKI
(3) =BU'H(1 wra f $>KHM

(4) ifUJJvHl %TT

Which of the following is not correct ?

(1) Tricuspid valve is an atrioventricular valve.

(2) Biccuspid valve is an atrioventricular valve.

(3) Semi-lunar valves are atrioventricular valve.

(4) Mitral valve is an atrioventricular valve.

TIT °F2R Rft % :

(1) ^N^'HFM'S jd< 31^ % l

(2) 6H$ <*HPMS qivif) elide) f l

(3) f I

(4) PHedclldf Qj^3p|^-dl^)d< °TR̂ 11
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 Options:-

.1, Option ID :- 1073,

. 2, Option ID :- 1074,

. 3, Option ID :- 1075,

. 4, Option ID :- 1076,
Answer Given:- 3, Option ID : -1075

Question ID:- 270

 Options:-

.1, Option ID :- 1077,

. 2, Option ID :- 1078,

. 3, Option ID :- 1079,

. 4, Option ID :- 1080,
Answer Given:- 1, Option ID : -1077

Which of the following is not correct about heart conduction ?

(1) Impulses are distributed to the atrial tissues from SA node

(2) Atrioventricular node is located between the two atria.

(3) Impulses reaches from SA node directly to the purkinje fibers.
(4) Purkinje fibers are known as bundle of HIS.

(1) SA Rfe^ 37lf^Tef <JTl =hl^ RTcft % I

(2) STTJtsilct'IdljcK eft M.dl'MI % % I

(3) SA Rt5 xRi%R5f 11
(4) ^HIS (F/3, 3TTT^, tpr ) *ff VI f I

During digestion glucose is broken down into :

(1) Glycerol

(2) Starch

(3) Amino acids

(4) Fatty acids

3 fatsflVd V11^PFJRFT ( MNiPstidl ) JjddiY'd
(1) 4e1 l^<ld
(2)

(3) SFM 3TRT

(4) VI 3FR
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Question ID:- 271

 Options:-

.1, Option ID :- 1081,

. 2, Option ID :- 1082,

. 3, Option ID :- 1083,

. 4, Option ID :- 1084,
Answer Given:- 4, Option ID : -1084

Question ID:- 272

 Options:-

.1, Option ID :- 1085,

. 2, Option ID :- 1086,

. 3, Option ID :- 1087,

Which of the following is not a psychological benefits of physical activity ?

(1) Improve cognitive functioning

(2) Enhance self-confidence and self-esteem

(3) Enhance mood

(4) Enhance state and trait anxiety

PinRlRad *¥ vPT ^llRR=h fdFRTT pHddl ?

(1) fstvMIVltddl 3^-TR

(2) ^irHpd^l'H 3pR 3TPR fdlP̂ HH 3
(3) Pdcl^Pd #TgW

(4) R t̂fd 3|R ^R -cidl Ĵ*TR

Which of the following is not correct about drive theory of Motivation ?

(1) Primary drives inherited.

(2) Secondary drives are learned.

(3) Primary drives involve no learning.

(4) Primary drives are largely psychological.

3#H £R <J||% -clinch (Drive) RioSI -d % Pwi diid -HI Rift Rff % ?

(1) 3tl^q‘R;i =b f I

(2) fgdfa TR^T RRSI RTcf f I

(3) TJeHJcT 3R̂ i ctn f̂ 3lfWT diff sftcTT
(4) PR3i ^OMd: ml^5tiPd =h f I
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. 4, Option ID :- 1088,
Answer Given:- 3, Option ID : -1087

Question ID:- 273

 Options:-

.1, Option ID :- 1089,

. 2, Option ID :- 1090,

. 3, Option ID :- 1091,

. 4, Option ID :- 1092,
Answer Given:- 2, Option ID : -1090

Question ID:- 274

Which of the following are correct about Motivation ?

(A) Love for activity is intrinsic motivation.
(B) Monetary gain is external motivation

(C) Motivation is a general level of arousal of action.
(D) Primary motivations are not biological motivation.
(E) Social motivations are also known as 'reinforces'.

Select the correct options :

(1) only (A) and (B) are correct.

(2) only (A), (B), (C) and (E) are correct.

(2) only (B), (C), (D) and (E) are correct.

(2) only (A), (D) and (E) are correct.

if cffo t :

(A) f̂ TT =bdlH % 3Tfa £ku|| f |

(B) srrte wft STMTW 11
(C) WTPt W dxl'jHl 11
(D) Srfinknfj ^IK1R=H 3#f^IT f I

(E) ^HlRl=b 3Tf̂ lil <ull JJ'lflSd'l 11
R( =bv<H :

(1) (A) sfa (B) JR* 11
(2) (A), (B), (C) 3?k (E) *Tc*T f I

(3) (B), (C), (D) 3fa (E) f I

(4) %5feT (A), p) (E) WQ 11
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 Options:-

.1, Option ID :- 1093,

. 2, Option ID :- 1094,

. 3, Option ID :- 1095,

. 4, Option ID :- 1096,
Answer Given:- 2, Option ID : -1094

Question ID:- 275

 Options:-

.1, Option ID :- 1097,

. 2, Option ID :- 1098,

. 3, Option ID :- 1099,

Who has defined sports training as "Sports Training is the basic form of preparation of Sportsmen" ?

(1) Martin

(2) Harre

(3) Matwejew

(4) Thiessand Schnabel

Raelisl cRR % l ’ TTf̂ T^T0! f̂ TT t ?

(1) *nf£r

(2)

(3) Hlde^cl

(4) ¥l}«fd

Physical fitness is sum of which of the following five motor abilities ?

(1) Strength, speed, agility, flexibility and endurance.

(2) Strength, speed, agility, co-ordinative ability and reaction time.

(3) Strength, co-ordinative ability, flexibility, speed and endurance

(4) Flexibility, speed, endurance, agility and body composition.

# TTN 7TFR7 =FT ?TKtft =F ^PcTT f :

(1) dl =hd, 7Tf%, pellet I ‘’FT, cfdldl'-M 3?R Tf?H3FfcTT

(2) dl =hd, ‘nfd ^dlcdlHd, TPT̂ -J 8FPTI 3?R MPdfsbAll TFR

(3) dl =bd, TFF̂ T STRcTT, ^sfp ^FRtT

3?P *lklR=h ®Hldd(4) eNldlMH, Wi 3FPTI, ^dldNd
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. 4, Option ID :- 1100,
Answer Given:- 2, Option ID : -1098

Question ID:- 276

 Options:-

.1, Option ID :- 1101,

. 2, Option ID :- 1102,

. 3, Option ID :- 1103,

. 4, Option ID :- 1104,
Answer Given:- 4, Option ID : -1104

Question ID:- 277

 Options:-

During running the parameters of training load for intensity and volume will be :

(1) Distance and duration of training.
(2) Speed and duration of training.
(3) Distance and frequency.

(4) Speed and frequency.

RN TR dladl sfk
(1)

(2) Rfo 3^R

(3) 3?k Pl< cl<cll

(4) Jlfd Pl<d<dl

% t^TT 'Jliy.'ll :NdlcHdidl

In die intensive interval training, training intensity, recovery and volume will be :

(1) 80-90%, 60-90 sec and 5-10 repition/series.

(2) 60-90%, 60-90 sec and 8-10 repition/series.
(3) 80-90%, 90-180 sec and 8-12 repition/ series.
(4) 60-80%, 45-90 sec and 20-25 repition/series.

dltfdl 3RPM k, 'RfWtff ifrjcTT, 3?fc ^HlrH^dl fpft :

(1) 80-90%, 60-90 sec 3ffc 5-10 35<ffcI/3RpFR

(2) 60-90%, 60-90 sec afa 8-10

(3) 80-90%, 90-180 sec 3fk 8-12

(4) 60-80%, 45-90 sec 3?k 20-25 -JfRffeRpfvq
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.1, Option ID :- 1105,

. 2, Option ID :- 1106,

. 3, Option ID :- 1107,

. 4, Option ID :- 1108,
Answer Given:- 1, Option ID : -1105

Question ID:- 278

 Options:-

.1, Option ID :- 1109,

. 2, Option ID :- 1110,

. 3, Option ID :- 1111,

. 4, Option ID :- 1112,
Answer Given:- 3, Option ID : -1111

Question ID:- 279

In the sports training macro cycle and micro cycles are of which of the following durations ?

(1) 3 to 10 days and 3 to 7 weeks.

(2) 2 to 3 months and 7 to 15 days.

(3) 3 to 4 months and 3 to 10 days.

(4) 3 to 7 days and 3 to 4 months.

itef if <r1 3fn HI 59bf UTRKI 3Tf4i if # RR 3Rfa fPft :

(1) 3^101^1 3lk 3^7 f̂fff

(2) 2^3 7 315fcl

(3) 3 lU *Tf^ 3?R 3^ri0 f^T

(4) 3^7 i^f 3ffl 3^4^

Which of the following is not a principle of sports training in performance sports ?

(1) Principle of progression of load.

(2) Principle of progressive specialisation.

(3) Principle of cyclicity of training.

(4) Principle of technical training.
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 Options:-

.1, Option ID :- 1113,

. 2, Option ID :- 1114,

. 3, Option ID :- 1115,

. 4, Option ID :- 1116,
Answer Given:- 4, Option ID : -1116

Question ID:- 280

 Options:-

.1, Option ID :- 1117,

. 2, Option ID :- 1118,

. 3, Option ID :- 1119,

. 4, Option ID :- 1120,
Answer Given:- 4, Option ID : -1120

Question ID:- 281

frcf ^ ^ fao&l-d ^Tff % :

(1) *TR 3RR RHCSW
(2) f^TReTT—3R JlRl^ddl f̂ gRT

(3) -dshdl 3rf?T$Ff Rifl'd
(4) d =biW] ‘SffSTSP1! f?T^RT

Which of the following is not correct ?

(1) Static strength is also known as isometric strength.
(2) Dynamic strength is also known as Isotonic strength.

(3) Static strength is the ability to overcome resistance.

(4) Relative strength is not a strength ability.

chid ĴT cRR 'HjF % ?

(1) *fl =b6dldl 11
(2) Jifd^Dcl sRt digcrlldl % I

(3) f?«R dfd'tm R ^ 4lJddl % I

(4) ejddlcH =b WelSFfdT T̂lff % I
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 Options:-

.1, Option ID :- 1121,

. 2, Option ID :- 1122,

. 3, Option ID :- 1123,

. 4, Option ID :- 1124,
Answer Given:- 3, Option ID : -1123

Question ID:- 282

Which of the following is/are correct about methods of maximum strength training ?

(A) In dynamic concentric method heavy resistance is overcome repeatedly.
(B) In dynamic slow eccentric method intensity is kept around 120%.
Select the correct option :

(1) only (A) is correct.

(2) only (B) is correct.

(3) Both (A) and (B) are correct.
(4) Both (A) and (B) are incorrect.

i?cj, THfl %/f :

(A) JlPdV'fid fafa 3*IKt TfftTCfa W,
'gKT 11

(B) M* vW fa MM ^><1 farffa *¥ 120% eFhPT dfadl TRsft 1? I

^:

(1) (A) % I

(2) (B)^11
(3) (A) 3fe (B)^tif *!$#1
(4) (A) 3fa (B) ^%^t f̂fl

In which of the following types of contraction muscle applies maximal force throughout the range
of movement ?

(1) Iso-metric

(2) Iso-tonic

(3) Iso-kinetic

(4) Static muscle contraction
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 Options:-

.1, Option ID :- 1125,

. 2, Option ID :- 1126,

. 3, Option ID :- 1127,

. 4, Option ID :- 1128,
Answer Given:- 2, Option ID : -1126

Question ID:- 283

 Options:-

.1, Option ID :- 1129,

. 2, Option ID :- 1130,

. 3, Option ID :- 1131,

. 4, Option ID :- 1132,
Answer Given:- 3, Option ID : -1131

Question ID:- 284

RinRlRsld IT f R̂T ^RfTSR ^*ll <) R=h dfd^fitfdl v̂T :

(1) 37If#^fHof7

(2)

(3) STTfTTt ^)^fe=b

(4) f̂d=b HfH =h*^M

The ability to achieve high speed of locomotion from a stationary position or from a slow moving
position known as :

(1) Movement speed.
(2) Acceleration ability.
(3) Locomotor ability.
(4) Speed endurance.

fWT 3T3WTT sfrft didRsrfff ^ cffa ^ lld^ncictl fwfrf RRT <=h^<rtldl % :

(1) JIHd-JlRl

(2) 4tJ -Mc1l

(3) TR1RH 4R ^dl

(4) Jlfd T^lRlad
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 Options:-

.1, Option ID :- 1133,

. 2, Option ID :- 1134,

. 3, Option ID :- 1135,

. 4, Option ID :- 1136,
Answer Given:- 4, Option ID : -1136

Question ID:- 285

 Options:-

Which of the following is not correct about Fartlck Training Method ?

(1) Pace or speed is not pre-planned.

(2) The total value and duration are similar to variable pace method of improving endurance.

(3) During this training Heart Rate fluctuates between 120-140 beats/minutes.
(4) Sportsman changes the speed on his own during the training according to terrain, surrounding

and feeling.

Hilicloh yR’I^T0!MV % P =hM TfT % ?

(1) Mf-FT M ’’jV RldlRlcI ^tcl

(2) TFR 3RRM THrMteRTT HRCKMHCI M MV % TFfH^f I

(3) y % dkld ‘ ifcl HRckMild 120-140 ^•Sdvl/ yRl f*TT5 <5?dl % I

(4) Rsltfl -Sl "5rf^T̂ rr°T ^RH TTrf :3FRt Ffd WWI F % 3TJFK ^(rlcll % l

Which of the following methods of flexibility improvement is based on principle of proprio-ceptive
neuro-muscular facilitation ?

(1) Post Iso metric stretch method.

(2) Slow stretch and hold method.
(3) Balastic method.
(4) Passive flexibility method.

vTEftvTTFR °TSFf % RiHRlRsd 33 ^ MV FTFMMIM MV FI 3TRlM
t :

(1) Ms 3TfVt VfM MV

(2) Ml MV

(3) ^efRtidi MV

(4) ^R-Ud ( dVlellHi ) MV
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.1, Option ID :- 1137,

. 2, Option ID :- 1138,

. 3, Option ID :- 1139,

. 4, Option ID :- 1140,
Answer Given:- 2, Option ID : -1138

Question ID:- 286

 Options:-

.1, Option ID :- 1141,

. 2, Option ID :- 1142,

. 3, Option ID :- 1143,

. 4, Option ID :- 1144,
Answer Given:- 1, Option ID : -1141

Question ID:- 287

During long time endurance activity for 10 to 35 min energy is produced by which of the following
system ?

(1) Aerobic-68% Glycolysis-30% and Alact-acid-2%

(2) Aerobic-80% Glycolysis-15% and Alact-acid-5%

(3) Aerobic-90% Glycolysis-8% and Alact-acid-2%

(4) Aerobic-85% Glycolysis-10% and Alact-acid-5%

(1) T$fof >-68%, Jdl^chlldfl 'H-30% T^fafe T^fe> %

(2) «<<lfW80%, 7dTf̂ tfd̂ W-15% yfVis-5%

(3) iiÔ -90%, Jdi§=blRi 'H 'H-8% y,ei=td M.DH -̂2%

(4) T^fe-85%, MI$ <*lfd*HH-10% T^-5%

cRi «Kol-} % fstTMldidlH 10 ^ 35 3 <?srf <4cs~l =hW :

Which of tire following is not correct about carbohydrate loading ?

(1) If is effective when carbohydrate rich diet is taken upto 2-3 hrs of competition.
(2) If is effective for endurance performance.
(3) If is effective in those events which last for more than 30 minutes.

(4) Increase in muscle glycogen leads to increase in water storage in muscle.
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 Options:-

.1, Option ID :- 1145,

. 2, Option ID :- 1146,

. 3, Option ID :- 1147,

. 4, Option ID :- 1148,
Answer Given:- 4, Option ID : -1148

Question ID:- 288

 Options:-

.1, Option ID :- 1149,

. 2, Option ID :- 1150,

. 3, Option ID :- 1151,

. 4, Option ID :- 1152,
Answer Given:- 3, Option ID : -1151

Question ID:- 289

RT % RR % Rft Rif % ?

(1) cl®f ‘SrHi'̂ iicrfl ffcfT t Rfg yid^Pmi ^ 2-3 ^RRt Hi>iicticil =bi <dl$($^<i <§|< i =fr> cff I

(2) R? 3Wolfed % %TT RRlddiKl 11
(3) Ri? 30 PHpId iP 3#T̂ 73T̂ ffefonrf fdRTT d> cllH Tf T̂T t̂ % I

(4) ^Hm^l 'Ml" R 'd'hl'Jl'l ®|<ol=b< ‘3^RRft W =Ft ®koldl %

The development of group dynamics is largely guided by which of the following four concepts ?

(1) Performing, Dynamism, storming and conforming.

(2) Storming, Dynamism, Forming and performing.

(3) Forming, Stroming, Conforming, Performing.

(4) Dynamism, Storming, Forming and Conforming.

PlHftl) =bc1 ^TR ycdRl' ^ gRT TFJs? dfd^lleldl f^fPct Weft % ?

(1) yc^H RfcRltvRTT, ^Idd, SFĴ RTR

(2) WTdTd, dfd^crldl , 'RTRRT, yg^fd

(3) RTTRRT, §i
"
$llc|d, SFJ^RPT, yc f̂d

(4) * llcl cl I, ^iqw, R̂ RI,
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 Options:-

.1, Option ID :- 1153,

. 2, Option ID :- 1154,

. 3, Option ID :- 1155,

. 4, Option ID :- 1156,
Answer Given:- 4, Option ID : -1156

Question ID:- 290

Which of the following are the duties of a good leader ?

(A) Builds cohesiveness

(B) Motivate others

(C) Reperesent the group

(D) To act as dictator

(E) Evaluate the work of others

Select the correct option :

(1) only (A), (B), (C) and (D) are correct.
(2) only (B), (C), (D) and (E) are correct.

(3) only (A), (B), (C) and (E) are correct.

(4) only (A), (B) and (C) are correct.

^ ^ %cfT % TJOT f :

(A) fTRWl

(B) % ilfef TRT

(C) TEJsT^>T

(D) 37ftIHRcb 3TT

(E) ^ 1̂

fa =t> crH :

(1) (A), (B), (Q (D) 11
(2) (B), (C), (D) 3fR (E)^11
(3) (A), (B), (C) (E) 3# f I

(4) (A), (B) 3fR (C) Wt W|
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 Options:-

.1, Option ID :- 1157,

. 2, Option ID :- 1158,

. 3, Option ID :- 1159,

. 4, Option ID :- 1160,
Answer Given:- 3, Option ID : -1159

Question ID:- 291

 Options:-

.1, Option ID :- 1161,

. 2, Option ID :- 1162,

. 3, Option ID :- 1163,

The scientific measurement of social relationship in a group is known as :

(1) Cohesion

(2) Dynamic

(3) Sociometry

(4) Social Dynamic

3 -HIHlf̂ cb TF̂ ft ^>T ^iPHcb RFFT diSelldl % :

(1)

(2) £l *HlPM=b

(3)

(4) TTteTel SMlpHdi

In the Ancient Olympic, pentathlon was conducted, it includes :

(1) Discus throw, Long Jump, Javelin throw, Foot Race and Wrestling

(2) Long Jump, Javelin, High Jump, Horse Race and Foot Race

(3) High Jump, Discuss throw, Long Jump, Horse Race and Foot Race

(4) Wrestling, High Jump, Foot Race, Discus throw and Horse Race

yi -dld 3ilcdf*-M <=b 3, TfeFJvTfa Ff HP‘-MPdc1 :

(1) PS'H'+H ctR ^FF, ?Tf , 3pR

(2) C#T ‘SF'T, ‘ f̂cFFT, ^rq,^ 3pR "JiF
(3) ^FF, PsFtvH ??t, cff1!*FF, ^ 3fk^
(4) ^dl , *FF, \F, fSTFRT Sft 3pR TJg FFKt
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. 4, Option ID :- 1164,
Answer Given:- 2, Option ID : -1162

Question ID:- 292

 Options:-

.1, Option ID :- 1165,

. 2, Option ID :- 1166,

. 3, Option ID :- 1167,

. 4, Option ID :- 1168,
Answer Given:- 2, Option ID : -1166

Question ID:- 293

In which year Amateur Athletice Federation of India (AAFI) was established ?

(1) 1942

(2) 1946

(3) 1948

(4) 1952

3(AAFI) 31Ff > ^TS -HI ^4SIFRT^ ?

(1) 1942

(2) 1946

(3) 1948

(4) 1952

Which of the following are correct decathlon (Men) event ?

(A) Long jump is the 3rd event of Ist day.

(B) High Jump is the second last event of Ist day.

(C) Javelin throw is the second last event of IInd day.

(D) Discus throw is the second event of IInd day.

(E) 100 m is the Ist event of the IInd day.

Choose the correct option :

(1) only (A), (B), (C) and (E) are correct.

(2) only (B), (C) and (D) are correct.
(3) only (A), (C), (D) and (E) are correct.

(4) only (B), (C), (D) and (E) are correct.
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 Options:-

.1, Option ID :- 1169,

. 2, Option ID :- 1170,

. 3, Option ID :- 1171,

. 4, Option ID :- 1172,
Answer Given:- 2, Option ID : -1170

Question ID:- 294

PinRiRad "A Rifa-RT *jAd ) % fRRR "Af Wt % :

(A) RRR fcdR Af c#T R*R CARA RfdRTpTdT

(B) RRE f^pRT 3^RR 3#fTR Tf c^ERt y fd4Tf > Icfl

(C) ^Rt f^T Rit RfRTR ^ ^RTt yfcNlPldl

(D) ^Rt f^T c[Rft yfd -RlPldl feRcRH
(E) ^Rt 100 Rtel RFdt yfclRlPld!

Rsff fc< =bcrH^:

(1) %Rd (A), (B), (C) 3?K (E) 3#11
(2) %Rd (B), (C) 3tl (D) R#11
(3) (A), (C), (D) 3fk (E) R#11
(4) % T̂ (B), (C), (D) 3fH (E) RWt f I

Which of the following are correct for relay race ?

(A) There are 6 members in a relay team.

(B) Length of the batton is-28 to 30 cm.
(C) Circumference of batton is-8-10 cm.
(D) Weight of the batton is atleast-50 gms.

(E) Acceleration zone is 20 m.

Select the correct options :

(1) only (A), (B), (D) and (E) are correct.

(2) only (A), (B) and (D) are correct.

(3) only (B), (C), (D) and (E) are correct.

(4) only (B), (D) and (E) are correct.
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 Options:-

.1, Option ID :- 1173,

. 2, Option ID :- 1174,

. 3, Option ID :- 1175,

. 4, Option ID :- 1176,
Answer Given:- 4, Option ID : -1176

Question ID:- 295

(A) fart zfa 6 s?ft 1? I

(B) ?̂t cTRlf 28 - 30 cm sjtcft 11
(C) f̂t "'TTfa 8-10 cm ^tcft % I

(D) îT ^TR ^^ 50 TTTR sjfcTT 1? I

(E) y =fH <rA*M sfa 20 ItrfT11
Wt fa'txrM^:

(1) %ReT (A), (B), p) 3fk (E) 11
(2) (A), (B) afo (D)^f I

(3) % T̂ (B), (C), (D) 3fa (E) 11
(4) %jcfeT (B), p) 3?fc (E) 11

Which of the following are correct for Long Jump ?

(A) Length of take-off board - 1.22m + 0.01m

(B) Width of take-off board - 30 cm

(C) Thickness of take-off board - 10 cm

(D) Width of plasticine indicator - 20 cm

(E) Angle plasticine indicator towards - 45° runway
Select the correct options :

(1) only (A), (B), (C) and p) are correct.

(2) only (A), (B), p) and (E) are correct

(3) only (A), (C) and (E) are correct.

(4) only (A), (C), (D) and (E) are correct.
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 Options:-

.1, Option ID :- 1177,

. 2, Option ID :- 1178,

. 3, Option ID :- 1179,

. 4, Option ID :- 1180,
Answer Given:- 1, Option ID : -1177

Question ID:- 296

^( cffR f̂ ) % $ RiR-^RT Wf % :

(A) 3TPE clHl^ - 1.22m + O.Ol f̂t.
(B) ^ 31TR> 4)41^ - 30 ^.Rt.
(C) ^ 3TTR> 5̂t Midi ^ -10 ^.Rt.
(D) 'RlTfe^ 1̂^)d< (IJR^O ^ -Si ^ - 20 i^.Rt.
(E) TR % 3fR RRfeR7 ŝl4)d< RTT - 45°
"Rft :

(1) %RR (A), (B), (C) 3?R (E) IT# f I

(2) %RR (A), (B), (D) 3?R (E) Rft f I

(3) (A), (C) 3fo[ (E) R#11
(4) % T̂ (A), (C), (D) afa (E)W\f I

Which of the following are correct for shotput ?

(A) Diameter of shotput circle - 2.135 m ( ±5 mm)

(B) Length of the stop board - 1.21 m ( ± 0.01 m)

(C) Width of the stop board - 14.2 cm - 30 cm

(D) Height of the stop board - 5 cm ( ± 0.2 cm)

Select the correct options :

(1) only (A), (B) and (C) are correct.
(2) only (B), (C) and (D) are correct.

(3) only (A), (B) and (D) are correct.

(4) only (A) and (B) are correct.
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 Options:-

.1, Option ID :- 1181,

. 2, Option ID :- 1182,

. 3, Option ID :- 1183,

. 4, Option ID :- 1184,
Answer Given:- 1, Option ID : -1181

Question ID:- 297

Vlld^d % £[ 4ft 4Tc*I % ?

(A) TOJ3 ejcf F̂T T̂TB - 2.1354. ( ± 5 4.4.)

(B) TSFT 4£ 4 - 1.21 4. ( ± 0.014.)

(C) TEN 4£ 44?Jf - 14.2 44. - 30 44.

(D) 4£ 4 - 54.4. ( ±0.244.)

l4 factMTH :

(1) (A), (B) 4l (C) 11
(2) 4fR (B), (C) 4c p) *4f I

(3) 4fR (A), (B) 4l P)4t f I

(4) %cRT (A) 4fc (B) Tf4 tl

Which of the following are correct for Badminton ?

(A) International Badminton Federation (IBF) was established in 1934

(B) IBF name was changed to Badminton world Federation in 2004

(C) It became official summer Olympic sports in 1992

(D) Thomas cup had started in 1950

(E) Uber cup had started in 1956

Select the correct option :

(1) only (A), (B) and (D) are correct.

(2) only (A), (C) and (E) are correct.
(3) only (B), (C) and (D) are correct.

(4) only (B), (C), p) and p) are correct.
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 Options:-

.1, Option ID :- 1185,

. 2, Option ID :- 1186,

. 3, Option ID :- 1187,

. 4, Option ID :- 1188,
Answer Given:- 3, Option ID : -1187

Question ID:- 298

(A) SRrRfRfa %SfcRR 9>t Wm 1934 ft I

(B) 9t 119) 99 RFf 2004 3 9P ^ -SPH^'I 9Vt WT 991 I

(C) 9^ 1992*f iil '̂ chldl’l 3Tto#9^r 3JR %>
"^9 HI^Hrll 9^ I

(D) TO 99T 9*f 1950 33TR9F^I|
(E) 39199 9^ 19563 37Tt^T f391

W119999^ :

(1) %9R (A), (B) 3^ (D) 9?t f I

(2) %9R (A), (C) sfa (E) 9#11
(3) %9R (B), (C) 3fk (D) 9#11
(4) %c*eT (B), (C), (D) 3?ft (E) f I

Which of the following are correct for Gymnastics ?

(A) Federation of International Gymnastics was formed in 1881.
(B) Vaulting Table - Apparatus for both Men and women.
(C) Horizantal Bar - Apparatus for women only.
(D) Uneven Bar - Apparatus for women only.

(E) Parallel Bars - Apparatus for both men and women.

Select the correct options :

(1) only (A), (B) and (C) are correct.
(2) only (A), (B), (C) and (E) are corret.
(3) only (B), (C), (D) and (E) are correct.

(4) only (B), (C) and (D) are correct.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 1189,

. 2, Option ID :- 1190,

. 3, Option ID :- 1191,

. 4, Option ID :- 1192,
Answer Given:- 2, Option ID : -1190

Question ID:- 299

'jtH'lliVch % fcR'-H îR Tf R̂ wt f ?

(A) ^ 1881 R <Hi >+> '^RR^RR R^ NHI ^ I

(B) ci|(V^I AM «=H < «I HP̂ II 3?R jp?R ^Rf % fRRl? I

(C) frfRFSR RR IR^RTT %3R Rf?RI3lf % feiy, % I

(D) 3Rf T̂ RR1WR %RR HfetflRT % PdM, % I

(E) fRTRR RR <4M =t> <. ul "JR?, Ep?RT ^Rf % fRl* % I

Rfft fa'freM^:

(1) %RR (A), (B) #[ (C) RSt 11
(2) %RR (A), (B), (C) #1(E) 11
(3) %RR (B), (C), (D) 3fk (E) R#11
(4) %ctR (B), (C) 3?fc (D) R# f I

Which of the following are correct about Judo ?

(A) Judo in Female category was added in Olympics in 1964.

(B) Judo Federation of India was established in 1965.

(C) Koshi - Waza - Hip Techniques.
(D) Te - waza - Chocking techniques.

Select the correct option :

(1) only (A), (B) and (C) are correct.
(2) only (B) and (C) are correct.

(3) only (B), (C) and (D) are correct.
(4) only (A), (C) and (D) are correct.
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 Options:-

.1, Option ID :- 1193,

. 2, Option ID :- 1194,

. 3, Option ID :- 1195,

. 4, Option ID :- 1196,
Answer Given:- 1, Option ID : -1193

Question ID:- 300

% fWT 11
(A) ^£§1 HP̂ dl 1964 if 3Hlclf^H =t> if ^TSI W I

(B) 3TO $P^I WFRT 1965 if I

(C) ^Tt-^RT-iFl £=tvi!=b 11
(D) £ ^F3TT--4lf=h*Jl cL=hHl =ti 11
Wf :

(1) %^eT (A), (B) 3fa (Q f I

(2) %^eT (B) 3fR (C) Wt f I

(3) % T̂ (B), (C) P) 11
(4) (A), (C) sfa (D)W\11

Which of the following are correct for Table Tennis ?

(A) International Table tennis Federation was formed in 1926.
(B) Length of table - 2.90 m

(C) Width of table - 1.35 m

(D) Height of table from floor - 76 cm

Select the correct options :

(1) only (A) and (D) are correct.
(2) only (B), (C) and (D) are correct.

(3) only (A), (B) and (C) are correct.

(4) only (B) and (C) are correct.
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 Options:-

.1, Option ID :- 1197,

. 2, Option ID :- 1198,

. 3, Option ID :- 1199,

. 4, Option ID :- 1200,
Answer Given:- 3, Option ID : -1199

Question ID:- 301

îf ^#r t?

(A) ^hS^M ^>t W’T^TI 1926 if ^ I

(B) eF l̂f - 2.90 Hld<

(C) 4 1̂i - 1.35 *ftel
(D) 4i^ ^ i«ld =Ft - 76 il.Bt.
?f# [d=b^ :

(1) % f̂ (A) 3?ft (D)W\f I

(2) % f̂ (B), (C) 3ffl p)W\f I

(3) % T̂ (A), (B) sk (C)^ f I

(4) % T̂ (B) #1(C)W\f I

Which of the following are correct for wrestling Arena ?

(A) Central circle is 2 m in diameter.
(B) Central wrestling area is 7 meter in diameter.
(C) Orange stripes1 m wide outside the central wrestling area.
(D) Area out side the orange strip is 2 m wide known as protection area.
Select the correct option :

(1) only (A), (B) and (C) are correct.
(2) only (B), (C) and (D) are correct.

(3) only (B) and (C) are correct.
(4) only (A) and (D) are correct.
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 Options:-

.1, Option ID :- 1201,

. 2, Option ID :- 1202,

. 3, Option ID :- 1203,

. 4, Option ID :- 1204,
Answer Given:- 1, Option ID : -1201

Question ID:- 302

% TĴ TT % fWT3 t?

(A) cb'Sl'M ^cf ^Tf 7̂R7 2 "tfrlT11
(B) ^5f T̂ °*TRT 7*ft. ^frfT11
(C) % T̂?T 3^R 1 WTt^#cff f I

(D) -iM ^% ^T1>12^. f̂fl %5f ^TcTT % I f^r£f iit^eHIH HR-MI f I

Wt :

(1) %^eT (A), (B) 3?K (Q1#11
(2) (B), (C) 3fc p) f|
(3) % T̂ (B) 3fR (C) Wt f I

(4) %cfeT (A) 3fa P) Wt f I

Which of the following are correct about Basket ball ?

(A) Invented by Dr. James Naismith in 1881.

(B) Court length-28 m and width-15 m.
(C) Diameter of central circle - 4 m

(D) Free throw line is at 5.80 m from end line.

(E) Backboard - length 1.80 m and width 1.20 m.

Select the correct option :

(1) only (A), (B), P) and (E) are correct.

(2) only (B), (D) and (E) are correct.

(3) only (A), (C) and (E) are correct.
(4) only (B) and (D) are correct.
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 Options:-

.1, Option ID :- 1205,

. 2, Option ID :- 1206,

. 3, Option ID :- 1207,

. 4, Option ID :- 1208,
Answer Given:- 2, Option ID : -1206

Question ID:- 303

% fcm *¥ f ?

(A) '5T. ^ 1881 T#5fT «TTI

(B) c+Tl <5. d *-®ll|28 "*ft. 3^lR ^TST^ 15 Pt. $ldl ^ I

(C) %^T ^cT ^>1 ^TRT 4 tffel -gtclT % I

(D) 3#cTB LRT R 5.80 Pt. 91^ RUpT ^tcft 11
(E) 1.80 Rt eF®fT 3^11.20 Rt. flcfT 1? I

H$) facfreM :

(1) %=tR (A), (B), (D) 3?R (E) 11
(2) (B), (D) 3fo (E) f I

(3) %^T (A), (C) 3fa (E) R#11
(4) %cfeT (B) 3?k (D) R# 11

Which of the following are correct in respect to Cricket ?

(A) Length of Cricket Bat - 38 inches

(B) Width of the Cricket Bat - 4.50 inches

(C) Weight of Cricket Ball - 155.9 to 163 gms

(D) Length of Pitch - 20.12 mts

(E) Height of stumps - 28.5 inches with bails

Select the correct options :

(1) only (A), (B), (C) and (E) are correct.

(2) only (A), (C), (D) and (E) are correct.

(3) only (A), (B) and (D) are correct.

(4) only (B), (C) and (E) are correct.
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 Options:-

.1, Option ID :- 1209,

. 2, Option ID :- 1210,

. 3, Option ID :- 1211,

. 4, Option ID :- 1212,
Answer Given:- 2, Option ID : -1210

Question ID:- 304

Psticbd % f ?
(A) Psh^id "td ^)t <rMI^ : 38 sN
(B) fsb^xi^^ 4.50

(C) ftJ&E ?k T̂ m 155.9$ 163 TUB

(D) f*Rf ^ 20.12 bfcl
(E) ^ f̂fflcT “3^- 28.5 1R3

Wl fk =bcrH ^ :

(1) (A), (B), (C) 3fll (E)^f I

(2) (A), (Q, (D) at( (E)^f I

(3) (A), (B) afa (D) f I

(4) %cteT (B), (C) ate (E) Wt f I

Which of the following are correct about football ?

(A) Durand cup was started in 1888.

(B) Weight of football ball - 410 to 450 g.

(C) Circumference of ball - 30 to 32 inches.

(D) Distance between goal post - 7.32 m

(E) Distance between ground and lower edge of crossbar of goal post - 2.60 m.

Select the correct option :

(1) only (A), (B) and (D) are correct.

(2) only (A), (B), (C) and (D) are correct

(3) only (A), (B), (D) and (E) are correct.

(4) only (B), (C), (D) and (E) are correct.
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 Options:-

.1, Option ID :- 1213,

. 2, Option ID :- 1214,

. 3, Option ID :- 1215,

. 4, Option ID :- 1216,
Answer Given:- 2, Option ID : -1214

Question ID:- 305

Jfd<s|Kr1 % fwr Rift t ?

(A) RR RT RRR 18883fRI I

(B) ^»i®llc1 R?1 RRrf R> T RR 410 ^ 450 TTTR ^TcTI % I

(C) RTcT R»t Rftsft 30332^ 11
(D) Rfa % R*R 7.32 Rt.
(E) illvi -S sfk 7fleT RlRR^RiTR RR R?t eiW RR1 % R*R 2.60 Rl.^'ftcff 1? I

Rft fa =bcR^:

(1) %RH (A), (B) 3?k (D) R# f I

(2) %RcT (A), (B), (C) 3?R (D) R#11
(3) %RcT (A), (B), (D) afo (E) R?t 11
(4) % T̂ (B), (C), (D) 3ffc (E) R?t f I

Which of the following are correct for Handball ?

(A) Weight for men - 425-475 g

(B) Weight for women - 350-375 g
(C) Diameter for men - 19 cm

(D) Diameter for women - 17 cm.

select the correct option :

(1) only (A), (B) and (D) are correct.

(2) only (B), (C) and (D) are correct.

(3) only (A), (B) and (C) are correct.

(4) only (A) and (C) are correct.
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 Options:-

.1, Option ID :- 1217,

. 2, Option ID :- 1218,

. 3, Option ID :- 1219,

. 4, Option ID :- 1220,
Answer Given:- 4, Option ID : -1220

Question ID:- 306

 Options:-

.1, Option ID :- 1221,

. 2, Option ID :- 1222,

. 3, Option ID :- 1223,

. 4, Option ID :- 1224,
Answer Given:- 2, Option ID : -1222

Question ID:- 307

ij-'Soilci % fcIq 'M "if ITtft t ?

(A) TjWi % fcR MR-425A75 TfTB

(B) •Rf^naif % #nr *TR-350-375 nm
(C) "5̂ % fcrc; îra 19

(D) frf^[T3ff % T̂RT-17

^ ::?Tft fa =h <rH

(1) %̂ el (A), (B) 3?K (D)W\11
(2) (B), (C) 3?K (D) f I

(3) %̂ ci (A), (B) 3k (C) Wt f I

(4) %cRvl (A) 3ftT (C) 11

Dimension of Kabaddi ground for men and women ?

(1) (13 x 9 m) and (10 x 8 m)

(2) (13x10 m) and (11x8 m)

(3) (12 x 10 m) and (10 x 9 m)

(4) (12 x 9 m ) and (11x9 m)

"5̂ 3?R Hfi?dl3Tt %%IT cfisT^t f^cTR f :

(1) (13 x 9 m) 3fa (10x 8 m)

(2) (13 x 10 m) 3ffc (11 x8 m)

(3) (12 x 10 m) afa (10 x9 m)

(4) (12 x 9 m ) 3?ft (11x 9 m)
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 Options:-

.1, Option ID :- 1225,

. 2, Option ID :- 1226,

. 3, Option ID :- 1227,

. 4, Option ID :- 1228,
Answer Given:- 4, Option ID : -1228

Question ID:- 308

 Options:-

.1, Option ID :- 1229,

. 2, Option ID :- 1230,

. 3, Option ID :- 1231,

. 4, Option ID :- 1232,

What is the full court diagonal distance of Volleyball court ?

(1) 22.215 m

(2) 22.575 m

(3) 20.125 m

(4) 20.215 m

dYeHM '3^^ lYddl t ?

(1) 22.215 4.

(2) 22.575 -Rt.
(3) 20.125 -Rt.
(4) 20.215 -Rt.

What is the weight and circumference of Vollyball ?

(1) 250-270 g and 64-66 cm

(2) 260-280 g and 65-67 cm

(3) 270-290 g and 67-69 cm

(4) 280-310 g and 69-71 cm

dTdldld Yf *fR fdiddl % ?

(1) 250-270 UT. 3fR 64-66 3jft.

(2) 260-280 UT. 3^ 65-67^.
(3) 270-290 UT. 3fk 67-69

(4) 280-310 m 69-71
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Answer Given:- 2, Option ID : -1230

Question ID:- 309

 Options:-

.1, Option ID :- 1233,

. 2, Option ID :- 1234,

. 3, Option ID :- 1235,

. 4, Option ID :- 1236,
Answer Given:- 3, Option ID : -1235

Question ID:- 310

 Options:-

.1, Option ID :- 1237,

Which of the following is not correctly matched for game and duration of game ?

(1) Hand ball - 30 min - 10-30 min

(2) Football - 45 min - 15-45 min

(3) Kabaddi - 25 min - 10-25 min

(4) Basketball - 10 min - 2-10 min - 15m - 10m - 2-10min

=bH FIT ^slci 3ft <J<Hcbl HH'M T̂T Fjftrf Hs?) % ?

(1) 1ft T̂el 30 ft. - 10-30 ft.

(2) 45 ft. - 15-45 ft.

(3) 25 ft. - 10-25 ft.

(4) 10 ft - 2-10 ft. - 15 ft. - 2-10 ft.

Which of the following is not a type of stroke in swimming ?

(1) Front crawl

(2) Breast

(3) Butterfly

(4) Medley

ftbFf 3 3 ITT ?

(1) y-i-i St> l3c1

(2)

(3) fdcldt

(4)
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. 2, Option ID :- 1238,

. 3, Option ID :- 1239,

. 4, Option ID :- 1240,
Answer Given:- 4, Option ID : -1240

Question ID:- 311

 Options:-

.1, Option ID :- 1241,

. 2, Option ID :- 1242,

. 3, Option ID :- 1243,

. 4, Option ID :- 1244,
Answer Given:- 3, Option ID : -1243

Question ID:- 312

Who has defined Health as "Health is the quality of life that enables the individual to live ,most
and serve best "?

(1) J.B Nash

(2) J.F William

(3) WHO

(4) Maxwell Howell

"WFR ^ 'sllcJH «Mlm % l ” 'W fW>^=hl t ?

(1) 4 ^
(2)

(3) SS^. 3Tt.

(4)

Which of the following is not an aspect of Health

(1) Spiritual

(2) Physical

(3) Fitness

(4) Mental
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 Options:-

.1, Option ID :- 1245,

. 2, Option ID :- 1246,

. 3, Option ID :- 1247,

. 4, Option ID :- 1248,
Answer Given:- 1, Option ID : -1245

Question ID:- 313

 Options:-

.1, Option ID :- 1249,

. 2, Option ID :- 1250,

. 3, Option ID :- 1251,

. 4, Option ID :- 1252,
Answer Given:- 1, Option ID : -1249

Question ID:- 314

RIHRIRSICI frr T̂T W t ?

(1) ST^TTcq

(2) SII< IR <*>

(3) 3^̂ Hd! ( P+idd l̂ )

(4) HuR-ldidl

" is the sum of experiences, which favourably influence habits, attitudes and
knowledge, relating to individual, community and social health"

(1) Physical Education

(2) Health Education

(3) Physical Culture

(4) Physical wellness

1? # 3TR^f, tRRffcPTf ^ oi)Rk1 , 3?R ^IHlRi1 =b %
P TT^nf^cT ^[cf f I

(1) Wlfei f?RJT

(2)

(3) ^llRR°h ^+<j)Rl

(4) *ll<iR =b
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 Options:-

.1, Option ID :- 1253,

. 2, Option ID :- 1254,

. 3, Option ID :- 1255,

. 4, Option ID :- 1256,
Answer Given:- 1, Option ID : -1253

Question ID:- 315

 Options:-

.1, Option ID :- 1257,

. 2, Option ID :- 1258,

. 3, Option ID :- 1259,

The word hygiene has been derived from Greek word 'Hygienous which means :

(1) Healthy

(2) Health

(3) Healthful

(4) Healthness

‘ siS'jfl'T ^ ^3TT f, 3T«f % :

(1)

(2)

(3)

(4)

Tuberculosis in human caused by which of the following bacterium ?

(1) Mycobacterium Tuberculosis

(2) Mycobacterium Bovis

(3) Tuberculosis Bovis

(4) Plyobacterium Tuberculosis

(1)

(2)

(3) V
(4)
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. 4, Option ID :- 1260,
Answer Given:- 1, Option ID : -1257

Question ID:- 316

 Options:-

.1, Option ID :- 1261,

. 2, Option ID :- 1262,

. 3, Option ID :- 1263,

. 4, Option ID :- 1264,
Answer Given:- 3, Option ID : -1263

Question ID:- 317

 Options:-

The core principle of environmental wellness is :

(1) Respect for nature.
(2) Respect all human being living in nature.

(3) Respect for nature and all the species living in it.
(4) Respect all species living in the nature

CIMICKUI Rd -SI -d t :

(1) ^I

(2) Yfrfo if H^T |

(3) y^ifd 3ffc TF# TTSHfcRlf °FT 3TR7 cf^ I

(4) ¥=FfcT if y îlfddi 3iT 371^^ I

AIDS is caused by HIV, which means :

(1) Human Immune Virus

(2) Human Immuno deficiency Virus

(3) Human Immuno Virus

(4) Human Immdeficiency Virus

AIDS HIV t, fsrcren t
(1) dN-f.'H
(2)

(3) ^FFT dldid

(4)
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.1, Option ID :- 1265,

. 2, Option ID :- 1266,

. 3, Option ID :- 1267,

. 4, Option ID :- 1268,
Answer Given:- 2, Option ID : -1266

Question ID:- 318

 Options:-

.1, Option ID :- 1269,

. 2, Option ID :- 1270,

. 3, Option ID :- 1271,

. 4, Option ID :- 1272,
Answer Given:- 4, Option ID : -1272

Question ID:- 319

Which of the following is not a skin injury ?

(1) Abrasion

(2) Avulsion

(3) Incision

(4) Strain

^ ĉ J ( [WH t :

(1) 3?#*R
(2) SReRTT

(3)

(4) ^

When a bone is broken, splinted or crushed into numbers of pieces, this type of Fracture is known
as:

(1) Green Stick

(2) Transverse

(3) Commutated

(4) Impacted
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 Options:-

.1, Option ID :- 1273,

. 2, Option ID :- 1274,

. 3, Option ID :- 1275,

. 4, Option ID :- 1276,
Answer Given:- 3, Option ID : -1275

Question ID:- 320

 Options:-

.1, Option ID :- 1277,

. 2, Option ID :- 1278,

. 3, Option ID :- 1279,

. 4, Option ID :- 1280,
Answer Given:- 2, Option ID : -1278

Question ID:- 321

^ lift ^E^"Jfl =JT<=|^ *fFt rp^^cFff “i f W T c f t % cR ^^T*ft lift^fE ( ib=h=K) <=hSdldl % :

(1) iffa fe^T

(2) ETO^
(3) =ti^r<i5

(4) 5«tf =hi-S

The first case of AIDS was reported in the year in the world in India in the year

(1) 1981 and 1988

(2) 1981 and 1986

(3) 1982 and 1988

(4) 1982 and 1986

£f "if, cT«IT *HI <d 31PH IM.S'H ^)T H$C1I

(1) 1981 1988

(2) 1981 3fR 1986

(3) 1982 3fa 1988

(4) 1982 3fk 1986
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 Options:-

.1, Option ID :- 1281,

. 2, Option ID :- 1282,

. 3, Option ID :- 1283,

. 4, Option ID :- 1284,
Answer Given:- 3, Option ID : -1283

Question ID:- 322

Which of the following statement is/are correct ?

Statement-(I) : Hepatitis is an infection of the liver caused by any of the Hepatitis A virus,
Hepatitis B virus and Hepatitis D virus.

Statement-(II) : Hepatitis A is serum hepatites and Hepatitis B is epidemic jaundice.

Select the correct option :

(1) Botli statements are correct.

(2) Both statements are incorrect.

(3) Only (I) statement is correct.

(4) Only (II) is statement is correct.

fHRfflfeld S# t/f :

«F*R-(I) : trfefesf ( dlcR ) 3 A iNfzfoi B QTFTSR sfts trfefesr^
?RT % I

^®H-(II) : ilpipifl T ires trfefest t sfn irrfefesf ( HIPCI -HI ) 11
Wf fqchcrH :

(1) (I) (II) SRI f I

(2) WT (I) =F*R (II) ^Rf 3TSRI f I

(3) (I) SRlfl
(4) %cTR (II) 'SRI 11

Which of the following is not a communicable diseases ?

(1) Tuberculosis

(2) Influenza

(3) Conjunctivitis

(4) Diabetes Mellitus
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 Options:-

.1, Option ID :- 1285,

. 2, Option ID :- 1286,

. 3, Option ID :- 1287,

. 4, Option ID :- 1288,
Answer Given:- 4, Option ID : -1288

Question ID:- 323

 Options:-

PinfeiRan *¥ ^ fpT t ?

(1) zs^̂ jvrff^T

(2) 5^5*11

(3)

(4) Sl«i^ AR'ldU

Which of the following is/are correct ?

(A) Ozone layer is found 35 kms above earth.

(B) Chloro fluoro carbons is destroying ozone layer.
(C) Carbon dioxide is a green house gas.

Select the correct option :

(1) only (A) and (B) are correct.

(2) only (B) is correct.

(3) only (B) and (C) are correct.

(4) only (A) and (C) are correct.

3 ^t/f :

(A) stRfa W!F ^ 35 ‘fevRt. "3^^:5TTcft % I

(B) 'KlI 'tl '+vfl 'tlob^'l 'H 3frsfR ^1 TO T?T % I

(C) 'Wi-Sl^icmi^ Tft5 1? I

PinfeiRad

:

(1) (A) 3fk (B) M f I

(2) %^ (B) ^rtl
(3) (B) 3?fc (C) m\ f I

(4) (A) 3?K (C)^ f I



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


.1, Option ID :- 1289,

. 2, Option ID :- 1290,

. 3, Option ID :- 1291,

. 4, Option ID :- 1292,
Answer Given:- 3, Option ID : -1291

Question ID:- 324

 Options:-

.1, Option ID :- 1293,

. 2, Option ID :- 1294,

. 3, Option ID :- 1295,

. 4, Option ID :- 1296,
Answer Given:- 3, Option ID : -1295

Question ID:- 325

Which of the following is/are correct ?

(A) Acid rain was first discovered in 1852.

(B) The primary causes of Add rain are sulphurdioxide and nitrogen dioxide.

Select the correct option :

(1) only (A) is correct.
(2) only (B) is correct.
(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are incorrect.

PiHPel Rad 3 f/f :

(A) 3iFeT cRi 1852 RR Tlfa *¥ I

(B) % TJyt £[' ReTR STRTfTflT f I

Wl fadicrH :

(1) %̂ T (A) t̂tl
(2) (B)^11
(3) ThTt (A) 3?fc (B)^f I

(4) ^PTt (A) 3^ (B)^tR?ff I
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 Options:-

.1, Option ID :- 1297,

. 2, Option ID :- 1298,

. 3, Option ID :- 1299,

. 4, Option ID :- 1300,
Answer Given:- 3, Option ID : -1299

Question ID:- 326

Which of the following is/are correct ?

(A) Aspertic add salt are used to treat Fatigue.
(B) Tobacco contain Nicotine and an average dgarette contains 1.5 mg of Nicotine.
Seled the correct option :

(1) only (A) is correct.
(2) only (B) is correct.
(3) only (A) and (B) are correct.

(4) Both (A) and (B) are incorrect.

:

(B) ^ Pl ^bldl'l ?RT t, TTRPT fFTTR Ft 1.5 fB.TJI. Pl=hldli FTFT % I

WT ^:

(1) (A) F#11
(2) (B)^ 11
(3) (A) 3?fc (B) FI# f I

(4) (A) 3fR (B) RvR f I

National malaria control programme was launched by the Government of India in the year :

(1) 1951

(2) 1952

(3) 1953

(4) 1954
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 Options:-

.1, Option ID :- 1301,

. 2, Option ID :- 1302,

. 3, Option ID :- 1303,

. 4, Option ID :- 1304,
Answer Given:- 1, Option ID : -1301

Question ID:- 327

 Options:-

.1, Option ID :- 1305,

. 2, Option ID :- 1306,

. 3, Option ID :- 1307,

. 4, Option ID :- 1308,
Answer Given:- 2, Option ID : -1306

Question ID:- 328

T̂RcT *U=bK 'SRI Wfa HelR -MI fĤ I chl4sI) H fee epf 3 3TR*I f̂ TT R T̂I ?

(1) 1951

(2) 1952

(3) 1953

(4) 1954

The noise pollution is measured in which of the following units ?

(1) Pitch

(2) Dedble

(3) Loudness

(4) Hertz

Mr RFH =FT! wt ?

(1)

(2)

(3)

(4)
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 Options:-

.1, Option ID :- 1309,

. 2, Option ID :- 1310,

. 3, Option ID :- 1311,

. 4, Option ID :- 1312,
Answer Given:- 2, Option ID : -1310

Question ID:- 329

Which of the following are correct ?

(A) Saturated fats remains solid at room temperature.

(B) Unsaturated fats remains liquid at room tempertaure.

(C) One gram of fat releases 8.3 kcal.
(D) Fats are made up of carbon, Nitrogen and Oxygen.
Select the correct option :

(1) only (A), (B) and (D) are correct.
(2) only (A) and (B) are correct.

(3) only (A), (B) and (C) are correct.
(4) only (D) and (C) are correct.

m. 3 =f?M Wfl t/f :

(A) % dlHHM "if 'HcjKl T̂T/ f̂ cJRT % I

(B) dlMBH 3SRFJRf arai cRel Tfdt f I

(C) ^8.3 kcal TfTRT 6lcH % I

(D) =W «H ^ PiMcl f I

Wt :

(1) (A), (B) (D) Wt f I

(2) (A) (B) 73# f I

(3) (A), (B) 3fa (C) 11
(4) (D) (C) 11

Which of the following is not a Nacrotics Drug ?

(1) Morphine

(2) Cocaine

(3) Amphetamine

(4) Opium





https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


 Options:-

.1, Option ID :- 1313,

. 2, Option ID :- 1314,

. 3, Option ID :- 1315,

. 4, Option ID :- 1316,
Answer Given:- 3, Option ID : -1315

Question ID:- 330

 Options:-

.1, Option ID :- 1317,

. 2, Option ID :- 1318,

. 3, Option ID :- 1319,

. 4, Option ID :- 1320,
Answer Given:- 3, Option ID : -1319

IpfR ch'H f7! T̂ f̂f t ?

(1) 'Htwin
(2) cblchl'l
(3)

(4) srrf^T̂ /srqfrq

Which of the following is/are correct ?

(A) Before adolescence girls grow faster then boys

(B) During adolescence boys grow faster than girls

Select the correct option :

(1) only (A) is correct.
(2) only (B) is correct.
(3) Both (A) and (B) are correct.

(4) Both (A) and (B) are incorrect.

PinRiRad Wl 't/f :

(A) 37̂ SIT ^ ds=bf ^ fDft ^ T̂l̂ cT f I

(B) 3T̂ ST1 % cTff̂ ff ^ ^ffe WcT T̂rf 1? I

Wl ^(1) %cfet (A) t̂tl
(2) %̂ eT (B) ^# tl
(3) ^Tt (A) (B) 11
(4) <frlt (A) 3fa (B) 7Temf I
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Question ID:- 331

 Options:-

.1, Option ID :- 1321,

. 2, Option ID :- 1322,

. 3, Option ID :- 1323,

. 4, Option ID :- 1324,
Answer Given:- 3, Option ID : -1323

Question ID:- 332

Which of the following is/are correct ?

(A) Between 3 to 5 years of age children continue to grow rapidly and begin to develop fine-
motor skills.

(B) Physical growth is slowed down between 5 to 8 years.
(C) Between birth and age of three, a child typically doubles the height and weight.

Select the correct option :

(1) only (A) and (B) are correct.

(2) only (A) is correct.

(3) only (A) and (C) are correct.
(4) only (B) and (C) are correct.

3 Tltt t/t :

(A) 3 ^ 5^^ 3TPJ *fl*dl Pk'fH f 3?|R f̂lcPT shield fa=t> fad ^vRT T̂rT f I

(B) 5 8^^3TFg 3 ^iiORcb ^ ŜTTcft % I

(C) ^ 3^ 37T3 3 ^Tf T̂cfT 11

(1) (A) (B) ^TFt f I

(2) (A) t̂tl
(3) (A) (C) 11
(4) (B) afa (Q^f I

PinRiRgd

An average adult needs how much protein per day ?

(1) 0.6 grams/kg of body weight.
(2) 0.8 grams/kg of body weight.

(3) 1.2 grams/kg of body weight.
(4) 1.4 grams /kg of body weight.
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 Options:-

.1, Option ID :- 1325,

. 2, Option ID :- 1326,

. 3, Option ID :- 1327,

. 4, Option ID :- 1328,
Answer Given:- 4, Option ID : -1328

Question ID:- 333

 Options:-

.1, Option ID :- 1329,

. 2, Option ID :- 1330,

. 3, Option ID :- 1331,

. 4, Option ID :- 1332,
Answer Given:- 3, Option ID : -1331

Question ID:- 334

HIHI —M ^ yfdRi PM uldln ?

(1) 0.6 yiH/kg 3HH -I1 ci'Ji'i

(2) 0.8 illH/kg SHH-il cl 'Jl'l

(3) 12 WVkg SPtf ^
(4) 1.4 iJIH/kg q'sH

In which of the following events P.T Usha was 4th in the summer Olympics ?

(1) 200 m

(2) 400 m

(3) 400 m Hurdle

(4) 800 m

TjfatT % f̂ T 3'Ift.cfl.̂ T ^TT TSIH 'RF̂ T f3TT ?

(1) 200 -to
(2) 400 tftel

(3) 400 Pfel

(4) 800
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 Options:-

.1, Option ID :- 1333,

. 2, Option ID :- 1334,

. 3, Option ID :- 1335,

. 4, Option ID :- 1336,
Answer Given:- 2, Option ID : -1334

Question ID:- 335

 Options:-

.1, Option ID :- 1337,

. 2, Option ID :- 1338,

. 3, Option ID :- 1339,

Which of the following term is used for 'tennis elbow injur/ ?

(1) Medial Epicondylitics

(2) Lateral Epicondylitics

(3) Superior Epicondylitics

(4) Inferior Epicondylitics

“ iPm chip'll ” f̂ T ^Kl n̂cTT % ?

(1) 5Hl =̂ -sTcini=hH

(2)

(3)

(4)

Which of the following is the last phase of menstrual cycle ?

(1) Ovulation phase

(2) Luteal phase

(3) Mensturation

(4) Follicular phase

STTTN -clsf)^3^H c|<ljl/3ic) n̂ cfih*)) % ?

(1) mm
(2) c^n <M <n 3T6RSTT

(3) mm
(4) ^>d=b 3T3W
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. 4, Option ID :- 1340,
Answer Given:- 1, Option ID : -1337

Question ID:- 336

 Options:-

.1, Option ID :- 1341,

. 2, Option ID :- 1342,

. 3, Option ID :- 1343,

. 4, Option ID :- 1344,
Answer Given:- 4, Option ID : -1344

Question ID:- 337

 Options:-

India won how many medals in the Birmingham commonwealth game in 2022 ?

(1) 21 Gold, 17 Silver and 22 Bronze.

(2) 22 Gold, 16 Silver and 23 Bronze.

(3) 21 Gold, 16 silver and 24 Bronze.
(4) 22 Gold, 17 Silver and 24 Bronze.

?

(1) 21 17 fen: afo: 22fe

(2) 22Tfe, 16 23fe

(3) 21 16 sftt 24

(4) 22 JlV£, 17 afk 22

Avinash sable won silver medal at Birmingham commonwealth games 2022 in 3000 m steeple
chase with the timing of :

(1) 8:12.26

(2) 8:13.26

(3) 8:11.20

(4) 8:10.20

df=HHH 2022 it# 3000 %T T̂F ^ 'feel *ftc!T ?
(1) 8:12.26

(2) 8:13.26
(3) 8:11.20
(4) 8:10.20
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.1, Option ID :- 1345,

. 2, Option ID :- 1346,

. 3, Option ID :- 1347,

. 4, Option ID :- 1348,
Answer Given:- 1, Option ID : -1345

Question ID:- 338

 Options:-

.1, Option ID :- 1349,

. 2, Option ID :- 1350,

. 3, Option ID :- 1351,

. 4, Option ID :- 1352,
Answer Given:- 2, Option ID : -1350

Question ID:- 339

'Jumper's Knee" is an injury that result due to :

(1) Sprain of the Ham string tendon.
(2) Strain of the Posterior curdate ligament.

(3) Sprain of the Quadriceps tendon.

(4) Strain of the Anterior curdate ligament.

11
'ft” ^>1 =hKul % :

(1) SHR^'I CL'ISI'I *¥
(2) MHdlR^K <M4ll^d RlJll4d R’ cHR

(3) =WI -§lRm cH -SH 3
(4) =h«Hl4d fe1Jll4d R’ cHT3

"Rotator cuff' injury is of which of the following joint ?

(1) Knee

(2) Shoulder

(3) Hip

(4) Ankle
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 Options:-

.1, Option ID :- 1353,

. 2, Option ID :- 1354,

. 3, Option ID :- 1355,

. 4, Option ID :- 1356,
Answer Given:- 1, Option ID : -1353

Question ID:- 340

 Options:-

.1, Option ID :- 1357,

. 2, Option ID :- 1358,

. 3, Option ID :- 1359,

. 4, Option ID :- 1360,
Answer Given:- 2, Option ID : -1358

Question ID:- 341

* <ledk f̂ T ‘STtf % :

(1) w*
(2)

(3) ^
(4) ẑ n

Fluid filled sacks that are positioned at certain points around some joints, which act as cushions
separating and padding adjacent tissues are known as :

(1) Joint capsules

(2) Bursa

(3) Cartilage

(4) Fascia

cReT^ 4lR T̂ fSU % 3TRT f̂TCT ^Wf T̂Tcft f "qj^%
f - T̂T^rf f ?

(1) %*TCJeT
(2) ^TT

(3) r̂dz#5T

(4) CFTRFTT
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 Options:-

.1, Option ID :- 1361,

. 2, Option ID :- 1362,

. 3, Option ID :- 1363,

. 4, Option ID :- 1364,
Answer Given:- 3, Option ID : -1363

Question ID:- 342

 Options:-

.1, Option ID :- 1365,

. 2, Option ID :- 1366,

. 3, Option ID :- 1367,

. 4, Option ID :- 1368,
Answer Given:- 4, Option ID : -1368

In the pure and dry air the composition of oxygen by percentage weight is :

(1) 23.14

(2) 26.24

(3) 21.36

(4) 22.04

ITFCRT yRiifin *rrc ?Fn t :

(1) 23.14
(2) 26.24
(3) 21.36
(4) 22.04

Which of the following is not a part of small intestine ?

(1) Duodenum

(2) Jejunum

(3) Ileum

(4) Rectum

PlHfclRgd 3 HT 3TRT T̂F7 F#^FlT % ?

(1) )

(2) ( Jl'jjlH )

(3) W* (ff^FFT)

(4) HdUfM
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Question ID:- 343

 Options:-

.1, Option ID :- 1369,

. 2, Option ID :- 1370,

. 3, Option ID :- 1371,

. 4, Option ID :- 1372,
Answer Given:- 2, Option ID : -1370

Question ID:- 344

The term 'Psychology' is derived from two Greek words :

(1) Psyc and Logos

(2) Psyche and Logos

(3) Psy and Logus

(4) Psych and Logus

'Psychology' ( ^ 3CSFT1 ^ % ?
(1) Psyc 3% Logos ( 'HI5ct» ^ ell 41'(rl )

(2) Psyche 3frc Logos ( 4U$=t>l eflFPT)

(3) Psy Logus cibw )

(4) Psych sfo Logus ( ^ dlJIR )

Which of the following is/are correct ?

(A) Motivation is a force/ drive which compels an individual to act or behave.

(B) Motivation is not required for effective learning.
(C) Motivation is direction and intensity of behaviour.
Select the correct coded :

(1) only (A) and (B) are correct.

(2) only (A) and (C) are correct.
(3) only (B) and (C) are correct.

(4) only (C) is correct.
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 Options:-

.1, Option ID :- 1373,

. 2, Option ID :- 1374,

. 3, Option ID :- 1375,

. 4, Option ID :- 1376,
Answer Given:- 2, Option ID : -1374

Question ID:- 345

fWdftsid WFl m\t/f ?
(A) 3Tfi) £k'J|| TT^T ^WS|®r?T Th f̂T %^ flRTi oHpdd 3}?I3T oMd$k FR H'd^ ^B^Ccft % I

(B) 3#Fjq % %q; 3Tf̂ TnTI 3Tf̂ T̂ rfT^^tcft % I

(C) 3#nfcnrr ^f^n 3?R y ®icidi iftff % i

Rift^^)T =h]pJlM, :

(1) %3ef (A) sfa (B) Rf# fl
(2) (A) 3?R (C)W\11
(3) %̂ T (B) 3fa (C) RT?t fl
(4) (C)W\11

Which of the following is/are correct ?

(A) Ozone layer is found around 24 kms above the earth surface.

(B) Ozone layer is distroyed by CFCs.

(C) Ozone layer blocks ultraviolet rays that comes from sun.

(D) CFCs are only found in air conditioners.

Select the correct code :

(1) only (A), (B) and (D) are correct.

(2) only (B), (C) and (D) are correct

(3) Only (A), (B) and (C) are correct

(4) Only (B) and (C) are correct.
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 Options:-

.1, Option ID :- 1377,

. 2, Option ID :- 1378,

. 3, Option ID :- 1379,

. 4, Option ID :- 1380,
Answer Given:- 3, Option ID : -1379

Question ID:- 346

fWdftsId m\t/f ?

(A) W?? ^ FTTF1!24 fcfi.'Ft.^ afrjfa ‘TO Tlf ŝncft 1? i

(B) <=M1< I 4^<1 «hl4i (CFC) ?JKT 3ftsR "TOT 11
(C) 3-iWlH TFT T[4 ^ 3TT% TTcff TTTTTTt fsROTf TT <Hd) % I

(D) # # ^>c(d i<<K=t> -sWM <i ^f TTT^ TfRlt %|
Wl TT :

(1) (A), (B) sfa (D)W\f !

(2) (B), (C) 3^R (D)^11
(3) %Td (A), (B) 3ft[ (C)^11
(4) %TR (B) 3?k (C)W\11

Which of the following is/are correct ?

(A) Hepatitis 'C is a slow killer.
(B) Hepatitis B virus can get into foetus from an infected mother.

(C) The incubation period of hepatitis B virus is 30 to 60 days.
Select the correct code :

(1) only (A) and (B) are correct.

(2) only (A) and (C) are correct.
(3) only (B) and (C) are correct.

(4) only (B) is correct.
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 Options:-

.1, Option ID :- 1381,

. 2, Option ID :- 1382,

. 3, Option ID :- 1383,

. 4, Option ID :- 1384,
Answer Given:- 1, Option ID : -1381

Question ID:- 347

 Options:-

.1, Option ID :- 1385,

. 2, Option ID :- 1386,

. 3, Option ID :- 1387,

. 4, Option ID :- 1388,
Answer Given:- 2, Option ID : -1386

Question ID:- 348

fdHfdRsId t/t ?
(A) 'tftZTSfZH '#’ 3fFT^T 11
(B) ^dl^fd'H ‘ «ft ’ Pdlql^ TT F̂T ŝbfMd WI $^?f̂ •H =hdl f I

(C) ^dl $Rw ‘ *fl ’ 3Tcffa 30 3 60 far F̂t ftcft 11
wt T̂ R̂R =b)F-Jiy, :

(1) %̂ (A) 3^(B)^t f I

(2) %̂ cd (A) 3?R (C)^11
(3) %3cT (B) (C)W\f I

(4) (B)^11

Which of the following is not primarily improved through continuous training method ?

(1) Aerobic Capacity

(2) Number and size of Mitochondria

(3) Capillarization.

(4) ATP-CP system.

^TcfcT 'SffW'Jr fafa % 3 FdHftffed P ^1 'g^PPTT faKUM ^ sfrcfT % ?

(1) SJPcTT

(2) +id=hrul=t> l ( Hl^dlcbTT'^'Hl ) T& TPMT 3fk 37R7R

(3) °bf^l'=bl '=b< ul

(4) MUIIefl
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 Options:-

.1, Option ID :- 1389,

. 2, Option ID :- 1390,

. 3, Option ID :- 1391,

. 4, Option ID :- 1392,
Answer Given:- 1, Option ID : -1389

Question ID:- 349

Which of the following is /are correct about Hurdle Race ?

(A) Weight of the hurdle should be less than 10 kg.

(B) Maximum width of the hurdle =1.18-1.20 m.

Select the correct code :

(1) Both (A) and (B) are correct.
(2) Both (A) and (B) are not correct

(3) Only (A) is correct.

(4) Only (B) is correct.

%iw 3 fH *Hfafisld 3 3 RT/3wt t/f ?

(A) RTRT RR 10%.RT. ^ RiR Rspf #TT 1

(B) T̂^TT ^ 3Tf*RFRTR =1.18-120 Rt. #ff I

RI?t ^^)T "RRH Hoi1̂ 1H :

(1) (A) 3fR (B) ^FTf R# t
(2) (A) 3tl (B)^TfReRlt
(3) (A) R?t t
(4) (B) R# t

In the 3000 m steeple chase races the numbers of hurdles and water jumps an athlete need to cross
are :

(1) 24 and 9

(2) 28 and 7

(3) 26 and 8

(4) 27 and 8
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 Options:-

.1, Option ID :- 1393,

. 2, Option ID :- 1394,

. 3, Option ID :- 1395,

. 4, Option ID :- 1396,
Answer Given:- 2, Option ID : -1394

Question ID:- 350

 Options:-

.1, Option ID :- 1397,

. 2, Option ID :- 1398,

. 3, Option ID :- 1399,

. 4, Option ID :- 1400,
Answer Given:- 2, Option ID : -1398

Question ID:- 351

3000 TTte* 4rilMci ^1 ^ foxl-fl 3fR ^RT TR '3R%^ t ?

(1) 24 3?k 9

(2) 28 3fa 7

(3) 26 3?R 8

(4) 27 3?ft 8

The term 'off side' is used in which of the following games ?

(1) Hockey

(2) Football

(3) Basketball

(4) Handball

PinRiRad 3^ 13W ^15« * T̂I TP?PT t̂ RTT ^M1 t ?

(1)

(2)

(3) R̂%3 R̂T

(4)
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 Options:-

.1, Option ID :- 1401,

. 2, Option ID :- 1402,

. 3, Option ID :- 1403,

. 4, Option ID :- 1404,
Answer Given:- 2, Option ID : -1402

Question ID:- 352

 Options:-

.1, Option ID :- 1405,

. 2, Option ID :- 1406,

. 3, Option ID :- 1407,

The term 'Ippon' is related which of the following sports ?

(1) Boxing

(2) Judo
(3) Archery

(4) Wrestling

faHfclRgd ^ (Ippon) il H ?

(1)

(2) ^5»
(3) dUsi'sH
(4)

Term 'Team Fouls' is considered as foul in the following game ?

(1) Volleyball

(2) Football

(3) Hockey

(4) Basketball

PinRiftaci ^ f^RT 1zfa t ?•blxid BHT ^TTcTT

(1)

(2)

(3) Wti
(4) oH^dollCl
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. 4, Option ID :- 1408,
Answer Given:- 3, Option ID : -1407

Question ID:- 353

 Options:-

.1, Option ID :- 1409,

. 2, Option ID :- 1410,

. 3, Option ID :- 1411,

. 4, Option ID :- 1412,
Answer Given:- 4, Option ID : -1412

Question ID:- 354

Which of the following vitamin is known as Folic add ?

(1) B,
(2) B2

(3) B7

(4) B9

PinRlRgd 3 Tl fadlfad *-blRr1=h 3 ÎHT 5̂fRTT f ?
(1) B,
(2) B2

(3) B7

(4) B9

The ratio of the amount of C02 produced and the amount of 02 used for the oxidation of glucose,
fatty adds and proteins is known as :

(1) Respiratory Ratio

(2) Respiratory Quotient

(3) Respiratory Outcome

(4) Respiratory Production

ojfi'S sfk %WH 3T8M dT4Hl =h< iJi % '3CCFT CO2 BIRT sfP TPIPT r̂f^o2 f̂f
RT3TT % 3FJRRT^ =FTT WTt ?

(1) d^HId

(2)

(3) YTFR HR^IIH

(4) drMIdd
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 Options:-

.1, Option ID :- 1413,

. 2, Option ID :- 1414,

. 3, Option ID :- 1415,

. 4, Option ID :- 1416,
Answer Given:- 2, Option ID : -1414

Question ID:- 355

 Options:-

.1, Option ID :- 1417,

. 2, Option ID :- 1418,

. 3, Option ID :- 1419,

. 4, Option ID :- 1420,
Answer Given:- 3, Option ID : -1419

Which of the following pair is not correctly matched ?

(A) Due to Light - Occupational cataract

(B) Due to Noise - Occupational deafness

(C) Due to Electricity Factors - Bums

(D) Due to Mechanical Factors - Leukaemia

Select the correct option :

(1) only (A), (B) and (D) are correct.

(2) only (A), (C) and (D) are correct

(3) only (A), (B) and (C) are correct.

(4) only (B), (C) and (D) are correct.

fHRfflfeld 33 ^tfdd t ?

(A) % =tiKui - oiiici'HiRi '+i

(B) Scfft %

(C) fd^d % =bKal - old'll

(D) 'Mlfd'+Tlq 4> Kuit % =bK »J| -

Wf :

(1) (A), (B) (D) t
(2) (A), (C) 3fa (D) f
(3) (A), (B) 3|k (C) Wf t
(4) (B), (C) (D) f
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Question ID:- 356

 Options:-

.1, Option ID :- 1421,

. 2, Option ID :- 1422,

. 3, Option ID :- 1423,

. 4, Option ID :- 1424,
Answer Given:- 2, Option ID : -1422

Question ID:- 357

Which of the following is/are correct ?

(A) Alcohol is a habit forming drug.

(B) Alcohol is a potent diuretic.

(C) After consumption, the capacity of die liver to maintain blood glucose level is increased

Select the correct code :

(1) only (A) and (C) are correct.
(2) only (A) and (B) are correct.
(3) only (A) is correct.
(4) only (B) and (C) are correct.

PHHfdfed t/f ?

(A) M/rd^d 3TRcf did I % l

(B) I<cdil5d % I

(C) M,<r4^d <=K1?l4> <l TcR ^3TT3, ^FRTf ^ ^TTcft % I

^>T =blPjU< :

(1) %^d (A) (C) t
(2) % T̂ (A) 3fk (B)^f
(3) (A) t
(4) %c[R (B) (C) t

'Dislocation' injury commonly occurs at which of die following joint ?

(1) Shoulder joint

(2) Hip joint

(3) Elbow joint

(4) Knee joint
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 Options:-

.1, Option ID :- 1425,

. 2, Option ID :- 1426,

. 3, Option ID :- 1427,

. 4, Option ID :- 1428,
Answer Given:- 1, Option ID : -1425

Question ID:- 358

 Options:-

.1, Option ID :- 1429,

. 2, Option ID :- 1430,

. 3, Option ID :- 1431,

. 4, Option ID :- 1432,
Answer Given:- 1, Option ID : -1429

Question ID:- 359

4 ’ (D i s l o c a t i o n) k l i fdv<rl PiH kl -S^kfk k ^Idl % ?

(1) cFT$ %#f 3
(2) ^c%%ktfk
(3) 3>$dl % kls k
(4) ^f % ktfk

Which of the following is not a type of sprain ?

(1) Primary sprain

(2) Mild sprain

(3) Moderate sprain

(4) Severe sprain

PinRiRad k k kt 3ra>R km^% ?

(1) 'Sfmfk̂ rkm
(2) i?mftkm
(3) urerc0!km
(4) kkk km

A form of obesity that results from having an abnormally high number of fat cells is known as :

(1) Hypertrophic obesity

(2) Hyper tissue obesity

(3) Hypo cellular obesity

(4) Hyper cellular obesity
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 Options:-

.1, Option ID :- 1433,

. 2, Option ID :- 1434,

. 3, Option ID :- 1435,

. 4, Option ID :- 1436,
Answer Given:- 1, Option ID : -1433

Question ID:- 360

 Options:-

.1, Option ID :- 1437,

. 2, Option ID :- 1438,

. 3, Option ID :- 1439,

. 4, Option ID :- 1440,
Answer Given:- 2, Option ID : -1438

Print ResponseSheet

HldMH ^ TSJeRn 3Tfa=FT *1041 *¥ R̂T 'tilRfi'hl % 3>KUI ^tcfT t, =h£dlc1l 1? :

(1) srfcprRrt isjyRi

(2) 3Hfd <*d=h l^RT

(3)

(4)

Basal Matabolic Rate (BMR) is a measure of resting energy expenditure that is taken upon of :

(1) 10-12 awakening after eating.
(2) 6-8 hrs of awakening after eating.
(3) 12-14 hrs of awakening after eating.

(4) 8-10 hrs of awakening after eating.

3TPTR*J<T WW IfoTcl ( Ad4lfc13> \cT) (BMR)^^<1'3v5if »4̂ RPR t f̂f BPlt T̂Tcff f :

(1) <3MI <31*) % ^R 10-12^ Rl

(2) <3MI OlH % '3R 6-8 Rl

(3) <3'll oil *} ^R 12-14^Wti "Rl

(4) HHT Wl % ®IR 8-10^ RFR Rl
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